soramen  AddaeH7

the following ;;é'ssage ‘and answer the questions that follow (1-5):

The following table - I shows the percentage (%) distribution of pah’er.ﬂs of 'variogs disease:s in the world and
ows the percentage (%) distribution of all the patients and Kidney patients in various continents, namely, Eui
alia, South America, Africa, North America and Asia in the year 2023. Total population of the world in the
s 800 crore and 10% of them are patients. Based on the data in the tables, answer the questions that follow.

9T Y EATeleh Ufeu ST e S I Qv % S Gy : (1-5)
T ifrnt - 1 & forea 3 fafvr i 3 AT ot Wi (%) foreror <t o ® SR afersnt - 11 H = 2023 #
A, SRR ST, STETH, el et S TR weE ¥ meft Afe & g Ofm
(%) Torawor e mn &1 o 2023 H fava i Fet SHEEA 800 FUS ¥ 3R IHH A 10% M & | Afcrmie § IS
R T 3T I T 9341 & ST ST ; _

Table - I: Disease - wise Percentage of Patients in the world.

qrfereRt - 1 ; fava H-QfE! 61 WT-ar gfawd |

t Disease/ &3 U | AIDS/ugw | TB/ufees | Hepatitis/71sha 3ner | Kidney Disease/gaaifm Others/ 3=
22% 10% 8% 6% 30% 24 %

Table - I1 : Continent - wise Details of all Patients and Kidney patients.

TfCTERT - 11 : Fft ARTA o ok AT BT FRTEII-aIR forareon |

Gontinent e Percentage Distribution of /9fasra faazo
All Patients/gw&a Qi | Kidney Patients/qa Tl

Europe/7y 10% 10%
Australia /2 fern 6% 5%

South America/zf&oft et 15% _ 40%
Africa /316t 25% 10%
North America /398 31981 » 12% 15%
Asia /Uf3rET ) 32% 20%

f the number of patients increases by 10% every year in Europe, then what is the difference between the nu
f patients in Europe after two years and the number of Kidney patients in South America in 2023 ?

1) 8lakh 2 9lakh 3)  7lakh @)  5lakh
Tfe 72 5 AR w1 He | gfaad 10% 1 gfg Bt @, @ < o qved g9 AR e i 2023 §-
TR B gk AMTET it ST & s= o1 3 fohe T & 2

1) 8u™ @ 9@ @) amE @4 s5@@

f the number of hepatitis patients in the world increases by 6% and that of heart disease increases by 22%
vhat will bethe new ratio of number of hepatitis patients to the number of heart disease patients in the wt

e fara  aepa e i it v # 6%, 41 7= AT 1 em & 22% g ot 2, @ foava § agha v AR
e SR 7= AT %1 e 1 =21 S 91 2 2

1) 156:673 @ 14:61 00 B) 159:671 ta) s 9t

2
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If the number of Kidney patientdi . ; : g

number of Kidney Patierl\)ts iniﬁi‘r&%&t}; America decreases by 25%, then what is the percentage decrease in the
7fe feoft STt | RS TR 2 R ,
e T AT 3 e # 259 et et &, 1 Forval & e o AN it e A feped e -

1 4% @ 8% @) 10% @ 5%

t is the ratio of t ' : : : : ; ~
\glr};aerica Bt he number of patients in Africa to the total number of Kidney patients in Asia and Nort

Wﬁmﬁmmmmmmﬁﬁwaﬁﬁmmﬁm%mamargqramm%
(DZEse @ 2:1

@) 49:22 @) 50:21
The number of Kidney patients in A ) . s of h
i st in Australia is approxunately» = of the number of patients of heal
s femn # g AT Ft Yo v H-geg A W @ F AT Fl
(1) 6.01% @ 6.82% 3) 5.49% @4 7.85%
Arrange the following fractions in increasing order :
14 11 79 16
N L 11 7 =
17 B. T e D. 79
fret o=l 1 igd shH T SraIferd whifed |
e 11 (N /s FEEl
> B 30N & g

Choose the correct answer from the opﬁoné given below :
4 i T Ferehedi & WA SR B LG : »
1 CABD ()8 C A, D,B ® ADCB @ BCAD

Which of the following statements are correct as per Classical Indian School of logic (Nyaya) ?

A. Nyaya syllogism has three propositions. B. Nyaya syllogism has five propositions.
C.  Nyayasyllogism has three terms. . ' D. Nyayasyllogism has five terms. *
Choose the correct answer from the options given below : .

(1) BandDonly () Band C ogly 3) ‘ A and D only ' (@ AandConly
Wwﬁﬁqmmﬁmﬁﬂﬁf@ﬂﬁﬁm‘hﬁﬁﬂﬁ%?

n Sk p, = - = A O et e e
o W_mmﬁzﬁqrm%ﬁ%l -~ D @ - EEE § 6 1 8

(1) @ B AR D @) WB”G‘%“C @) FEAAIRD (@) Fad A 3R C




11.

12.

ber system then identify the correct ascending order of the fOUOWing
num ’

If (L)) represents a number L in base - M e

numbers A-D, when converted to a base- C (260) D.  (10001101),
. 7 AP
A (8B) B. (212)g e gl H FAIGHA TR ST ¢
anun(Ml(? # A (L) T L 7 e T &, T 8 S — 10 FSA e A 5
- M H& ggfd M e FRTT
@ Fretffan wemsi A-D ¥ we ST HH : D.  (10001101)
A (8B)g B.  (212)g S R : :
Choose the correct answer from the options given below :
2 fRw T fasedl & | W@ IR H TG HIC : D.B.A
(1) B, A/ C, D (2) D, C, A, B (3) A/ B, C; D (4) C/ £/

Which of the following statements are true ? e

A Truth and falsehood are attributes of individualpropositions.

B.  Validity can never apply to any single proposition by itself.

C.  Inavalid argumentall of its premises have to be true.

D. A valid deductive argument cannot have all true premises and a false conclusion.

Choose the most appropriate answer from the options given below :

() A,BandD only (20 AandConly
3 A ,CandDonly 4 CandDonly
fFrafafea & 9 $0 A Fea a@ 82

A A SR ST Al Fiomiaal & o |

B. duq i off W A R vea wiia & e gg9 el st S gehdt 2 |

C A9 gl ¥ 3o Qeft STURETERN 1 9 BT A § |

D. f#Hl 99 Frmmers gfe & ast snRasa e T fend o/ & & wohdl § |
e fRT T formedt & & Wol SugeR SO 1 5 HI0):

(1) SFAA,BIARD @ [(FEaAsRC

@) FHIAA,CIRD @ ‘FFe@csRD

A 500 m long train running at a speed of 100 m/s crosses a tunnel in 10 s. What is the length of the tunnel ?
(I) 200m (2 500m ()" 800m (4) 1000 m

T 500 HIX Tsit TS 100 HHex/ TS 71 | Feid g8 TH GO 1 10 Fhe B IR 3l & | GO 1 a1 fehar
82

(1) 200 "X (2) 500 HX (3) . 800 HIeX (@) 1000 "X

Which of the following is an ancient Indian treatise on problems related to Mathematics ?

(1) NyayaSutras (2) Lilavati (3), MimamsaSutras (4)  Pramanavarttika
T H Heiferd FEEnS W Wi ARdrE 79 fEfafed § @ w6 g 2

1) =EgA () e @), g (4)  WHTE

A culture which is not touched by communication of alphabetic writing is known as a culture of :

(1)  Literacy (2)  Typography (8) ' Exclusivity (4)  Primary Orality
SOTHTCT TIE & HR | T fed el Fe 3 Q 5 Sepfn 3 w9 8 0 82

(1) e ()  HEU e (3).) ST @ Wt S

4 017




13.

14.

15.

Match List - I with List - JT.
List-I (College)
Poona College for Hindy Learnin
Hindu College, Kolkata

A

B, (Presid

C.  Bishop College, Sibpur ency College)\g‘
D Scottish Missionary COllege, Kollat 2

List - IT (Founder)

Alexander Duff Ahded,
M. Elphinstone e
Rajaram Mohan Roy

Church of England

it - 11 ( HEIash )

S R T Le, STIFISISH
B. e HICH, Fremhman (Ieid=eh wror) I, T uewA
C ToRm e, ey ML SO 984 T3

Choose the correct answer from the o

! ptions given below :
A1 FUT fohedt 4 W SR 357 w7 i -
(1) A-LBI,CII,D-IvV (2 A-ILBILCIV,DI -
(3 A-ILB-IV,CI,D-I 4)  A-IV;BIL CI, D-IT

2/:;; iisgézc)n;rect sequence (from lower number to higher) of the following related to Sustainable Development

A.  Number of Publications e B. Number of Goals 7
C. Number of Targets " ... D.  Numberof Indicators
Fad fohg e (0 <t ) Q Heifer Freferfias < (f=1 T 4 3= % %9 §) TeF 3T F e ?
A YERE 1 HEm B. &l (<) FI HeEA
C el (ITE) Fit gEm D. Hhdbie! @&
Choose the correct answer from the options given below :
4 T T foeredi # | Wé SR = Fif
S ABCD 2 BDCA 3 “B.CD,A 4 CBAD
\ﬁhich of the following are the National Coordinators appoirnited for SWAYAM courses ?
Indian Institute of Management, Bangalore (IIMB) { |

A

B. National Programme on Technology Enhanced Learning (NPTEL)
C  National Institute of Open Schooling (NIOS) .

D.
E.

-

Block Institute of Teacher Education (BITE) s
Consortium for Educational Communication (CEC)
Choose the most appropriate answer from the options given below :
(1) BandD only (2) € DandEonly
(3) A,Band Conly (4) A,B,CandEonly
frefafaa § & 7 wad TerhH eg (TR 6T T T rs § 2
A R YA HEIH, TR (3 ST T o)
B, rifirE dafid aifura HaH UL FEHA (T WA F ue)
C g e foraerdl HEIA (T $TE &1 TH) |
D. s foen et s qear (st o 4 E)
E e dioo 2q @9 (€ 6)
A forg T famed] 4 & HaA TG IR F T FAC
(1) FaaB 3D 2 FEFACD IRE
) Fa@A,B3IRC 4)  FTAA,B,C IRE

5 017"




16.

17.

18.

19.

Activity)
¢ I (Internet
LlSt I ( ﬂ]fOugh the Internet 20.

Match List - I with List - II. I tes
List - I (Internet Protocol) L Gends ets Jata for online transmission

A HTIP I E"Cz }; Cp/IP packets to web server
é gilLTP I ?f:nsfers files over the Internet

V.
D. FTP
TR - 1 % 9191 it - 11 1 e G| @_H(g'z-{%zm)%

- T Hdl
eit- 1§ wietehicl ) s 3 g 3 el

A, HTTP (W9 & &t 1) 2 %W%WWWWW%
B. . SSL (T¥ 7§ W) % <t /3 T Yoh AT HeR T A ey 2k
C  SMTP (T g & ) A Zoe R Rl I AT HIA &
D.  FIP (T 3t ) V. ,

tions given below :
Choose the correct answer from the op
2)% ﬁi’TnQ/ BIILC ﬁ @D?ﬁ s @ AILBI C-1V, D-IIT

oy D I, B-TI, C-I, D-IV
()  A-LBIV,CI,D-I @A TLB; 5
; t-
Which of the following statements is logically equivalent to the statemen
“No cats are non-feline.” ? :
(1) No felines are cats. (2) Allnon-cats are feline.
()  Allcatsare feline. (4)  Allfelines are c:ats. o
Frferfen i 4 @ 23 a1 e - (I ot foreeft R-feoreret 72t &' % Twaged 22
(M) P it foreret fafeerit 75 @ mﬂﬁ?—ﬁfwﬁﬁsﬁ il
@) i fafeerar faem @ gt faem fafeemar &)
The systematic elimination of extraneous variables other than those you are interested in can be achieye m
(1)  qualitative research (2)  correlational research
()  experimental research ' (@ longitudinal research 23.
wmv&amaﬂﬁmwaﬂwmﬁmﬁwﬁ@mﬁmﬁmmmb
BRI @ . FEwah iy
S SR @ sty
Identify the correct sequence of the cycle of self-regulated learning_
A Enacting Tactics and Strafegies B. Devising pJ
C Setting Goals DY s UE TS
E. Analyzing the task - ; egulating learning
STH-T2fr atfermy THY ] Teer
i TH & 173“1 # iy
A TOHIT  Friify B A g o
C  weg-fayfo 5 IR
E  #-fawemy ST o
Choose the correct answer frop, the o
K4, S phons v
T TR el 428t a1 below
M DBCAE ("o n BV 3)
ol E,C B, A,D @ ABCDE

1]




20.

21.

22,

23.

Around 1945, who developed
memory and then data woylq
(1) Alan Turing

nthe idea of a stored program computer that was to hold programs and data in a
Nove between the memory and the processor ?

O St i et
S AT S 1SV T foram fergt forapfira feman o ST 91T 31K 27 61 B 3 eor et o1 9o
i Tl AR SR SRR 3 s g B
(1) T S
() fom sEd-=
(@) T e 1

Which of the following statements about computer memories is correct ?
(1) HDDs may experience a ‘‘head crash’ ¥,

(2)  SSDsarealso known as volatile memory. -

(3) HDDsdonothave any moving parts.

(4)  Computers usually have more primary memory than secondary memory.
Wﬁﬂ%ﬂ?ﬁﬁﬁﬂfiﬁf@amﬁgqﬁqm“ﬂ%?

1) WRAAFTTHN dEwad

() U TH St R AR T T o s

@) T H R it e T B 2

(4)  FHE W HR: T T w5 sren mafis AU s A

Which digital platf.orm of Ministry of Education has been formed by merging three consortia initiatives, namely
UGC-INFONET Digital library consortium, NLIST and INDEST-AICTE consortium ?

(1)  Shodh Ganga (2) eShodhSindhu (3 E-Vidwan - )  Shodh Shuddhi
Il — $RIME fefSiea ameskl Fiféam, T Uet o1 T8 <t Ud o7 T €1 § U9 3f - U SR ot 3 € Haiean 7
It 1 FHITean Tgelt <l e e 3rer gry SH-41 fefses o= fifdq faar mr € 2

1) Sy I @ - fay @) 3-fam @ Oy yfs
Match List - I with List - IL. ,
List - I (Communication form) List - I (Description)

A Sequential accounts told and retold from a particular viewpoint
B. Social drama Subject to a community’s rules for appropriate conduct
@

Personal address L
1L

Narratives II.  Points to self and others in interaction
V.

Do Invokes local socio-cultural rules for behaviour
Tl - 1 % T et~ 11 e
Tt - 1 (HITET) it - 11 ( ferawor )
A Safsrs ged L O e gfesio § sk g/ Sursl # Fe7 9 aRar s
B amfEh I e STER o areras el & st
o Il 3afshalH a9 o1 it iR 2fird s
s e IV. SRR &g QIS Hitah e -l <1 @M Hildl € |
Choose the correct answer from the options given below :
()  ALBILCIV,DII (2) ~A-I, B, C-III, D-IV

|
() AL BIV,CL DI (4) A1V, B, C-II, D-IIT

o7 017




24.

25!

26.

?

05 Only {
tdevlce
outp!

 devices 4

Which of the following compute

c Numbegpad

(4) BandD only

@)

. CRT mom’tOf' Aok
2}1005:‘:;1:::!:(?‘ ﬂnSWCrBﬁorn tj;e;l::(;n; i:/]‘;n be( ) C and‘j)%:(;nly
A THEA B e At
ﬁﬁémﬁmﬁﬁvﬁwwwﬁ:; ) @ CRD
1) Fa@asiks (@ FHAABI e

Which of the following are true about Solar
Basic Unit of STEC is a solar cell

STECs may be Flat plate or concentrating tyP.
Temperature in STECs may rise over thousan

STECs can produce electricity.

et
Paraboloid dish collector is an example of STEC wher
ns given below :

[2

HonNn o >

Choose the most appropriate answer from the optio
(1) AandD only
3) A B ,CandEonly @ ABCDandE

R A et e (T A S ) & R d fefarad #1 HE €2
A THAIH T TG IFE AR IAL]

B. mﬁéﬁa@ﬁzawmmﬁﬁm%l

C T ALH A A TR feut vetis % G Tl & |
D. TWAIH fr@saamasmmsl (N

E mamasaﬁ(ﬁi@aﬁgfgm)ﬁmﬁ\ﬁaﬁﬁimwwmimﬁmzmwaﬂﬁ

@R

A7 few T ferheti & & T Swe SR 1 TG
(1) %ae A 3iRD 2

(3) HIAA,B,C IRE 4 AB,CDSIRE
Arrange the following sections of a research dissertation in
é I/)\.cknomiledgement B. Research Methods
: xscusswrf . D Lit{erature review
Y ey F feg mmﬁaﬁmﬁmﬁm%ﬁm :
A O\
Sfeiifa B Wiy f%lbfuﬁ
C  foam-famsi AP
D wifew ey
Choose th L\ i
e correct answer from the o tions given
ptions given PElow :

7T PR formrel 3 8 o 30 1w iy
(1) ABCD @ BDe ;;3)
} ® D/B,C,A

ThermalEnergy Collectors

ddegree centrigrades.

@ BGCD and E only

() %8B, C,D 3R E

correct sequence.,

)

D.

D. wix
%msm

emperature can go upto 2000°C,

A,D,BC

PlOtte,-

MmO > mHA>a

HOO®E>E 5 3N

ey ()

G

@)= Abhdeshie) @)l B S




27.

28.

29.

30,

“] believel ";‘;]1:{;:/:';132 this class,” Ram declared to his brother. “I received a perfectscore on the verbal part of
the SAT, an ys excelled in my literature classes.” Ram is demonstrating which of the following ?

i If-esteem
()i Hiehss () High levels of emphath
R - offi s : g evels of emphathy
k) High self-efficacy in literature ) Low self-efficacy in literature

“mwéuﬁﬁwmﬁ ST HEM, " T Y a7y W ) A T U A 3 A v H 7 g FE

gﬁﬁﬁ SR T ST Tl e 1 st § grpee oir 9 fop £ 1 0 rAfef # & o0 Fad @
?

0 e e @ 3= = A

@) Hifecd H 5= FH-am @) e ¥ e am

?13,,;:;5(:;1;? ;i]}?;tviisd;\i :argc?x;%t&ierzr:y(ihi:rsgch a way that A gets X 5 less than B, and B gets

750 1 foRdl TR A, B aﬁxcﬁmmaﬁrm%%,q,sa%smw%aﬂzl},c@?lomm%l ExCal

fircht TR 1 STI b &2

) k280 2 2:3:4 (3) Nl 2@ (D) 2:305

Identify the correct sequence from (earliest to latest) of the universities éstablished in the early years of the twentieth

century India :

A.  Osmania University B.  Aligarh Muslim University

C  SNDT Women'’s University D.  Nagpur University
E Patna University

el YIRS ot & xenfig fovafarareri o1 we Sigshd (F=HATH & Taias) T ;
A Sewt foraformem B. e Hicm favafaacd

C W HAfea fovafarmea D. R feafaeme

E 9 fovafeemd

Choose the correct answer from the options given below :

9 feu TTu fashedi § Q |&t ST &1 999 IS0

() EACB,D 2 -CEABD (3) D,AGE;B @4 ADEBC
Identify the list of 4 quadrants of the courses hosted on SWAYAM

A, Self-assessment tests

B.  Videolecture N

C.  Online discussion forum for clearing the doubts

D. Specially prepared reading material that can be downloaded/ printed
E. Face-to-Face interaction among learners

Choose the most appropriate answer from the options given below :

() A,B,DandEonly (20 A,B,CandD only~

(3) C,DandEonly (4) CandEonly

T T SR TSRl & 4 Fqatel 1 el Bl TE= |

A - T

B. difedl areAH

C il ¥ foamo ¥ SiFae fore-faed e -

D, foir =y A SR areaEm o Srses/ qfzd fhan s wehy ¥
E  sfimasaiail 3 A SHA-GT &1 i

R forg o fergpedt @ TR ST I H A FIC -

() %aeA,B,D3NE () Fad A, B,C3RD
®) ¥&wC,D HARE (4) FCIRE

9 017




31.

32

33.

35.

Beast of burde,,

Arrange the following in order 0;;" Animé B
A.  Domestic Animal : T : gR 2l
¢ rafedd D. 2l 3T
freiffiag @ @t omd F FA A Z c U= w
A Eﬂﬁqﬂ B. h?;{s given pelow :
Choose the correct answer from the OP : ; S
ﬁ%mmﬁmﬁﬂqﬂmﬂmu o) B,A,D,C @ AR
()G D, BAY @ BAG o
oo s built info the proceSS or -
In Buddhist thought, self-reflexivity, 15 : @ Religious change
(1)  Power relations @ Politicisation
(3)  Verbal communication 7 Y’} %?
ﬂzﬁmwmﬁ'mﬁ‘mﬁmﬁﬁﬁwmﬁ qfer
(1) vfed gey @ QLR 4
() Wfs<® HaR (4) T
; ; - ing Macaulay ?
Which of the following statements are true regar,dmg B e
A He succeeded in replacing Persian with English as the administrative fangu ge.
g Indians as teachers.

B.  He promoted training of English Speakin,
C He was inspired by Utilitarian ideas.

D.  Hepromoted “useful learning”.

Choose the correct answer from the options given below :

() AandBonly , (2 BandConly  (3) AandConly (4 A,BCandD

H1et 3wl A Frifeifiaa o 4 Q B A FEA A E 2 g
A mmwﬁmﬁmﬁﬁﬁﬁmmﬁmqﬁl :
B o 5w 3 S aer o S 3 e ) et e

C % SRR o & e o1l

D. S5 ‘‘Sydnh s’ 3t Weaed o

2 R g el & QW@ S 0 A Ffa

M FARB WBWCP B FTIAMRC @) ABCIRD

The Gross Enrolment Ratio (GER) measures th
. . l e 1 i
of the cigihts B b 2 number of students enrolled in higher education as a percert

1) 18to2
@) 024years () 19to25years @) 7 18to0 23 years (4) 17 to 23 years

Thel GSiTToT 3T (S E 3R :
T 1 W R 2 )mm%mmaﬁ%m%mﬁmmﬁm feafie

(1) 1892434
) 19%253@[5?1) @) 18 ¥ 2394 @ 17923~ i

gisan extremely shopt i
" ortlived and unstable air/ water pollutant ?

(1) SMOG -
()  Persistant Organic Pollutants v 7 () Volatile Organ

¢ (POPs) € Urganic Compounds (VOCs)
W H B 39 walferss w5 T a0  Polycyclic Aromatic Hydrocarbons (PAHS)
() = (o ) T T SRR Y /e g €2

0) WWWN:«M) \ ) ST Freifers vy (st o )

Y™

WA) 4
@) Tesfes gufam e (T )

10
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age

17

36.

37.

38,

h List-1I with List - IT.

Matc ;
List -
(Threats to Itrl:ternal Validity) hljst -1I ;
Maturation threat escription
& L When participants’ behaviour changes as a function of
B Attrition threat having been tested previously
; IL When some event outside the research project affects
¢ History threat participants systematically
. Occurs because of short or long term changes in a participant
D Testing threat because of psychological changes like boredom, fatigue etc.
i IV.  When participants drop-out of a study, leading to a change
@?-I*W”W-Hwﬁqﬁm SR in the nature of the sample
- I §
T R L )
A L mﬁﬁqﬁwaﬂﬁﬁﬁﬁwﬁéﬁmﬁuﬁmm
S G FEER IR eI € |
i L gty TREGE & FTE I T HAeiiE 1 et
¢ dEEE 9 Y Yo FH € |
0L u%w,maﬁé@ﬂéamqﬁaﬁ%mmqﬁwﬁ
D, THEWET 3 g sTehITcidn era eI Faeel o R 2 € |
- IV. T SfTT STEe o A § Bre a1 & s e e
Yehfal B Srgerd &1 Sl
Choose the correct‘ answer from the options given below : & 2l
F= feu T faehedl H | WE W H1 T2 HIT ; '
@ AIV,BIICI DI @ AILBIV,CIDI -
P istat (4 ATLBICIV,D-I
Match List - I with List - I ,
List-I (Words) Tiists c
A BOLT i 2 ;s II (Codes with samerule)
B. RING TS E D
G SOLD Im. 49
D. FROM IV. 48
Tl - 1 3 T19 Gt - 11 61 FHee Shifs | ' ¢
et -1( 972 ) Tt - 11 (T FrEm O s )
ASSSBOLT! L 52 -
B. RING L 50
C  SOLD Im 49 v 5
D.  FROM V. 48 ]
Choose the correct answer from the options given below :
3 fau T forehedi H © WA I F T HIC -y
()  A-LBI,CII, DIV (2)  A-ILBI,C-IV,D-I
(3)  A-V,B-II,C-J,D-II (4)  A-I,BIV,CII, DI

International Solar Alliance (ISA) is the alliance of countries most of which lie partially or completely -

(1) Above tropic of cancer

(2)  Below tropic of capricorn
()  Between tropic of cancer and tropic of capricorn

4)  Southern hemisphere

Sty |y Hfy (20 TH T) ety T8 29 F WEA Y TR WY RS ST w9 §
1) T Erd R ; T H Seran quicrn feer ¥ -

Q)  wE-wE A A=
() - e - 3 A
@) zfarft drend &

11 .
017




39.

40.

41.

ranking of observations.

. 1 would allow
shich wouwie le

Identify the scale/scales of measurement b B qu'na:asl:a
A nominal scale - D. ratlo- 2 12,
C  intervalscale - tions givel pelow : ol (4 AandB only
Choose the correct answer from theco Pnd D only (©) 4 1
(1) ﬁA, Band COITI;? @) B CANC i o Aot
T it =7 Ar9fEi 1 989 B. HAgAD HTaA!
g 7 o 2
C 3w _
ﬁmmﬁaﬁtﬁﬁ@vﬁmmm*';zb @ B @) FIAA 3Rp
(1) ¥awAB3RC (@ FI@BC
Match List - I with List - IL. List - I (Examples)

List - I (Water specific diseases) L Malaria
A Water borne diseases

(Due to ingestion of polluted water) . Schistosomiasis
B. Water washed diseases

(Due to lack of cleaning water) Typhoid
C Water based diseases n yP

i t
(Due to contact with polluted water) s

D.  Water related diseases
(Due to habitation of disease causing
parasites in polluted water)

T - 1 3 9o gt - 11 1 e Fie
it - 1( < fafyree Q) T L (ST
A Sa-sfm L R
(v <iet 3 sietew 3 For) — a3
B. Wt yifad s LN 1 R
(=5 3T e 3 F) )
C. S sy St VOISR (CAwES)
(wfim et 3 ok A o Sr ). (L
D. o Hafiq st ). =
(Sgftra 51t o e et ()
@A & HR)
Choose the correct answer from the options given below :
ﬁﬁmﬁmﬁﬁ@vﬁwwwaﬁm:
(1)  A-ILB-IV,CI,D-II
(3  ALBILCIIDIV 8 2:?3 ﬁi,\,’ Ccrg gi

Which of the following refers to a sam lin i
observed for aset period of timny T L6 2PPIOach in structured observation whereby a sampled individ
(1)  Focal sampling ]
2 .
(3)  Purposive sampling 54; : ill\l?:t,ebraslgl\samﬁihng
) mpling

=14 8 %1 S S 3 s A .
Tl % forg e forn s 2 TR LR S0 e & e i o Sfrerg o 1

(1) Y gfeegT 4 ;
@) vt Q) Femhe (i) W
, @ e e




al

01

E mployme“t of classroom technology needs clarity with regard to:

42. . [nstructional messages B. Cotyse objectives
T echnological competencies D.  Ekperience of failures
E Institutional indolence
Chopse the correct answer from the options given below :

@) ABandConly @) B;CandDonly

@) CDandEonly @) A/DandEonly

e SRR 36 ST 6 71 1 3 oo g e o e 80 42
A STRAEN B UGTHARY

c Ve e D, et % ovE

E GINTA STHHUE

42 feg T foshedl § | Wt S 1 99T S ;

(1) oA BIRC () WaaB,CARD

(3 FaAC,D3IMWE : (4 ¥3AA D IRE

N

43, Which of the following are the characteristics of mass :;coir;mmﬁcaﬁon ?

A Homogeneous audience B.  Professional communication as source
C.  Immediate feedback D. Useofamedium

E.  Rapid transmission of messages

Choose the most appropriate answer from the options given below :

() A BandConly () B;GandDonly
() CDandEonly @ EOpndEony

Frer 84 e - a2 )

A o A B Y% w9 SR TR
C o gfagfe D. Wmmn

e J
St &

E w9l &l cfd 99

13 few 1 P 9 R SRR I S T

(1) ¥FaaA,BIRC 2) Fa@B,C 3D
() Faac,DARE (4) HadB,D $RE

X 13




44,

45,

3 : s tatement ?-
Which fallacy is committed in the following St4 1d kill someone.” Read
; : way, Tarun cou
“Tarun cannot be guilty of murder sInce there is no way ‘ )
Slippery Slope fabrica
(1) Hasty Generalisation @ ippery : £
- (4 Inappropriate Authority India
(3)  Begging the Question |
firefefag e o 1 @ ad < ffed § 2 for do’
" (
. : e o et FoRel 1 R EE | manp
“mmmﬁﬁqﬁ%ﬁm%mwﬂéqﬁ 15 of this
forger SR
(1) Sfeaia SR @ KR highe’
i
(})  STEHE N (4) ST PR
) Electri
togeth
Which of the following statements are correct ?
4 .. P piil indus
A. A man purchased an item at =ofiits selling price X', and sold it at 5% more than "X". His gain is 25%,
5P 0 AT
B. A dealer professes to sell his goods at cost price but uses a weight of 900 g for a kg weight. His gain
11%% : N Ffer
faf
C. Iflossis one third of the selling price, the loss percentage is 25%. o1
D. By selling 100 pens, a vendorgains the selling price 6f 20 pens. His gain is 20%.
Choose the correct answer from the options given below : gj:
(1) AandBonly (2 BandConly ) CandD only (4) AandD only
FrefafEd Fo 8 9 50 3 FaT aa § 2 ;

g
A @aﬁa%maﬁaﬁmfﬁmgw‘x’%gm@ﬁaam‘X'QS%axrua:wé'aﬁmn SR o
25% %1 )

B. U fashar aﬁa@aﬁaﬁmlﬁvéﬁﬁmwm%m@ﬁmm%m%ommww kA

FIAT & | SHFI 1Y 11%% 2l
: ‘ 46.

C AR fosra g o foeid ) o i s 259 ¥

D. @faamimoﬁaéwzoﬁa%ﬁmwﬂawwumm%l SHHT T 20%
A1 feg T formedi # & W ST 1 = i -
() #ASMRB () FawBaive

R

3) FEECSRD @ FEAA @RD

14

017 X




he following passage and answer the questions that follow (46 -50) :

Read*
/s $ 800 million semic
onductor plant followed by recent approval to Tata Group and CG Power for

d Assembly, Testing and . .
8 and Packaging (ATP) plants with an investment ofZ1,30,000 crore (and more 11t the
ufacturing in

Micron

. ~tionan
fabrlfatlon the beginning of a transf
) aré stormational global supply-chain shift centered around chip man

jpeline) ==~ . T
fngia. This will create a multiplier effect on talented and skilled workforce inside India.
atter of pride that alm: .
4 i,-lcnsemiconductor wo,kfgiiol}&m{rd of the global semiconductor talent pool is Indian. However, the need
for dome® e is estimated to be arguhd 3,00,000 by 2026. In addition, there is also a huge

airement of almost six million i
maﬂf’oc“}ije; {)e;lom. six million in the electronics hanufacturing sector which will be the largest beneficiary
of this

The current combined Science, Te ; ; ; Ay
ducation institutions is inadequ‘;}::mogy' Engineering and Mathematics (STEM) graduate output from India’s

It

highefe
wth is certainl i
Th:sg;gd e Educ);ggnmg to come from the non-IITian orbit and the policy path ways of the Ministries of
Elecg::ru converge to present bountiful opport-unities for industry and academia to work
togett=
This industry academia synergy was key t o
Uy-academia is needed to make this a wyinnoilnngd ;2;???: t:;: I Y

ko w a similar trifecta of government-
T T ST R U S IEh oG 4 T 9wt o6 Sy« (46 -50)
mgﬁﬁﬁtﬁﬁwﬁmaaﬁaﬁ,maﬂﬁ%ﬁﬂ(qamﬁa’sﬁ%g?l,so,ooomﬂgé?ﬁ%m(eﬁk
e o ﬁém%)%mmﬁﬁém%mmm%ooﬁﬁmmmﬁﬁ@mmmﬁm
;ﬁﬁqﬁ:qzs;:m Wmﬁ@ﬁwéﬁwmsj@wmma@%lmﬁmﬁmw@aﬁtwmmm

3

.ﬁﬁmm%ﬁéﬁwaﬁmuﬁmwmmﬁ@m Tl | qenfy, A & foh 2026 T TR
et FT I I STEYIHT T 3,00,000 B | maﬁiﬁaa,gaﬁm{nasma%mmﬁs@mﬁﬁfaﬁﬂw
iy T e AT SRR 1 Y ST 2 :
mﬂgﬁ#ﬁﬁﬁ#@ﬁ@ﬁmﬁa@mﬁ,w,ﬁﬁwﬁﬁkm(mﬁé@)%awaﬁﬁa‘gaaﬁ@r
|
qwmmam_mmmammmawmmamm%mm
aﬁmﬁammamwﬂmaﬁawmwjﬁﬁwmmmé%n
mﬁmmaﬁmmﬁmammaﬂéﬁ%mmvm 7a Yt 7 Y et
%mmmﬁm_m-mﬁﬁ%wﬁm%l '

4.  Asaresult of the chip boom, the requirement of workforce.in the electronics manufacturing sector will :

(1)  remain unchanged (2) leadtojob losses
(3) —~increase
(1) syfafda @ @ A A e e

@) = @) ¥ srafues s s

(4) dréstically go down

X : 15 :
017




47.

48.

49,

50.

inl
will comeé main

in Indi ! ;
The new talented skilled workforce Il s The Non-IITian orbit
Killed labour force
(1)  STEM graduates " Uns 1
The IITs~ 3 7 ;
% e 77 # 4 &l
e 7 FRTAA 0 FAA L e
(1) TWAIWEE= a
@) SEIRIANH 3
lis:
India’s share in the semiconductor global talent POO(; el G
“third
(1)  Two-thirds ()  One-third, : ;
ﬁm%éﬁﬂwﬁmwﬂmwmﬁqﬁ@ I & :
@ - (4) TE-TT
@ -frer @ TR
Micronsetupa: £y
(1)  Fabrication plant () An ATI.’ P an 5
(3  Asemiconductor plant (4)  Anengineering colleg
e 3 Fre  Q Frd v e 22
() o (Hfsrerer) w9 @ T EIA .,
&) SRR @ Sl Herfasmer

The need for additional talented and skilled workforce in the domestic semiconductor sector has been s
by : :
A.  Theapproval given to Tata Group and CG Power for fabrication and ATP plants
B. Micron’s $ 800 million semiconductor plant
C. Setting up of new Universities
D.  The global supply chain shift centered around chip manufacturing in India
Choose the most appropriate answer from the options given below :
7
(1) AandBonly ( A cCandD only
() B,CandD only 4  A/BandD only
Qeitehede & e &3 § sifafiad ufe '
I 9 FRIE FRAe 3 sirerearshan e & § form- g g s A
A %ﬁmmaqﬁﬁawﬂ%mmmaﬁﬁwﬁmmﬁ
B. qsman&;sooftrf‘emamam?ﬁw’swxm

C T favafiameri 1 v

! 53
ﬁmmﬁwﬁamwsﬁtmmw.
(1) FadA FRB 2 WA’CWD
(@) FaAB,C 2D e
: D
X

16 0
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52,

53,

PAPER - II (MANAGEMENT)

Which of the following are merit of IRR method of Capital Budgeting ?
IRR method recognised time value of money
Acceptance ruler >k

1t considers all cash flows occuring over the éntire life of the project to calculate its rate of return
IRR method is good choice for mutually exclusive project.
~ Value additivity principle implies in IRR methods
Choose the correct answer from the options given below :
) A, B, Eonly (2) A,B,C,Donly @~ ABC only @ CDE only
@mﬁmmmﬁm%mﬁwﬁ#@aﬁﬁaﬁ?@%?
A ST S SR WS 4 o6 Hfereh W bl HI1 9EH € |
B. e a9 r > k
@ ﬁ,wﬁuﬁwa%m%@qﬁﬁm%wﬁﬁﬁaﬁﬁ%ﬁaﬁaﬁmmWWm%l
D. o TR 3R TG IRk 31 Wi o fore Sed fashed €|
p T ST SR USH H e dmienehal i ST €|
) few U foehedl H | W@ ST H T FIWT :
(1) %9dA,BE @ ¥a@AB,CD (@) %5@ABC @ FACD,E

(225 (=) (DRSSl

Which of the following strategies are true to becomea fqmﬂy friendly manager ?

Allowing employees’ children to come to workwith them occasionally to celebratea special occasion.

Accompanying employees to their children’sballgames.

Sending birthday cards or cakes to employees’family members.

Driving to an employees” house to be with her/his family following a deathin the family.

_ Allowing back door attendance incase of unatithorised absenties.

Choose the correct answer from the options given below :

(1) A,B,Conly @ ABCDonly () BCDEony (9 ABD E only

@Wwﬁ%w%mﬁqﬁéﬁﬁ@aﬁﬁmwﬁﬁﬁ(mﬁﬁﬁ) TE T2

A e 3 aedl - (w—wm)ﬁmm%mﬁﬁmawmﬁmaﬁaﬁ
A < |

B, HHEIAl I S Tl o Te-et H W 0

€ mﬁwﬁmﬁm?mﬂfiﬁml

D. aﬁﬁ%qﬁaﬂﬁmaﬁm%ﬁwmvﬁméﬁmumﬁ%mmmml

E  warfusd Wﬁmﬁﬁaﬁmﬁ (s &9 9) U g5t T i STFAT <1

73 feg o el A @ A S H AL

() #aAA,B,C @ ®a@ABCD @) FBCDE () Fad A, B,D, E

moNS P>

A culture is transmitted to employees ina mfmber offorms. Which among the following is NOT a form through
which organisational culture can be transmitted ?

(1) Stories @) Rituals (3)  Pre-conceived values (4)  Material symbols
Wﬁﬁfﬁg‘qﬂf&fwﬁﬁ#mﬁa@?ﬁ%l frafafad # | o8 F9 H1 W 7@ & ) grees g9t &
TR ) gl € 2

1) o @ @R @ e (@) e wefte

17 017




54.

55.

56.

57.

58.

of the following content ?

The term “OCTAPACE' has been used for which 59.

(1)  Developing HRD climate.

2 Developing Human Relations. j o
23; Developing Human Resource Information system and Resear

ino Human sub-system in the organisation.
e i 8 s Fr 1 1 &7
(1) U= IR S ufEw fasfad wE
() T HaY fasfad &
@) T T e s S S AT
(4) HTeA H HEr 39-9d famiad F

Y. : inning to end.
Arrange the steps of buying process or consumer decision making process from beginning

A.  Need recognition B.  Evaluation of alternatives

C.  Informationsearch D.  Purchase

E. Post purchase evaluation of decisions

9 9561 1 SasieR Pt W 26 WA 1 o | 37 % ¥ H afedd FIT :
A STEYIHA i TeTH STl B faecdi &1 geaiehd T

C. I & @S & D. %4

E. 9% SR (IvEE) fia &1 gedisd
Choose the correct answer from the options given below :

e feu T fosredl § | Hat ST 1 99 i :

(1 ABCDE 2 AD,BCE @ ACHBDE @ BEBAE

Interest received by Banking company is covered under which of the following activities in cash flow statement?
(1)  Operating activities (2)!_s Financing activities

3) Investing activities (4) '+ Operating or Financing activities

Tl Ve faraen § A R A W A e 3 & e Frhe % S A €2

(1) U= fhaEee @  foxia fpamnam

@) fEw e @ e  faxia R

The basic control process involves :

A Establishment of standard B. Feedback S € Correction of deviation
D.  Feedforward F3 Correction of Strategy

Choose the correct answer from the options given below :

(1) AandBonly ) ' CandDonly 3) ABandEonly (4) AandC only
ey o wfsan ® Wi € : Ty :

A, TE HI S B. Wy C fogea #1 gur

D. ey - E.  THifaH gurR

= fau e fawedi 1 9 T ST A TG HIT :
(1) FadARB () HAACIRD () . ¥9AABARE (4 Fa@ASRC

“Performance Appraisal too often degenerates intoa dishonest annual rituals” Who stated this ?

(1)  Armstrongand Murlis (2) * Newton and Findlay

(3)  Barlow (4)  Grint

AT YT 3 IOy Td:, A1 At ST e W S € ' ST For T €2
(1) S SRS (@ R e

(@) @ fie

18 017

60.

61.

@ P=

Match List
List
(De
Pro|
Udc
Ulr
Frie

) Cu

geit-156

ON® P

A
B.
© -
D.
Choose
= fag

Q A
@ A

62. Whoha

@
lm Y‘ﬁ
(1) B




59.
60.
61.
W statement ?
on
62
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017 X

Thi following is/are
which of the 8 1S/are com s
Product Market Scope Ponents of Strategy for a firm according to Igor Ansoff ?

A
C Competitive Advantage B. Growth vector
: Dt o
hoose the correct answer from R : ynergy
(Cl)"’ A, Bonly ) iegpchons 8iven below -
e : » 2, Conly 3) B,C Donl 4 ABCD
mm%?ﬂw%mma;mmﬁ il Ahes
?
e B#Hz?.ﬁﬁﬁnmﬁﬁm@i
c e &y q9fs Hfey
: D. wefwan
ﬁmmﬁmﬁﬁnﬁmmmaﬁﬁ
¥ A, B » ;
) ’ @  FFwa,B,c @) ¥a@B,C,D @ ABCD
'hich one of the following f : 3
:j\izllil;;nd ? 18 formula is AaPPpropriate to determine the market price per share as per Walter Model of
TR AT WIS % SR e
( WWWw%ﬁm%mmzﬁﬁwﬁ#@aﬁﬁmmz?
DIV EPS — DIV)
P=——+ EPS - DIV DIV
(U K g @ p- ! ) e
K K
EPS —
B PV, : S
= e - I £
> (4 P=DIV#3 (EFS-DIV)  3vin (p
Match List - I with List - IT. 2
List:1 List- 11
(Developer/Formulator (HRD framework)
Propounder)
A Udjai Pareek and T.V. Rao L Integrated HRD system Approach
B. Ul'nch and lake I Human Capital Approach
¢ F ned.man I TheStrategic Framework Approach
D.  Curtisand Team IV.  The People capability maturity model
Felt-1 % F19 Felt-11 %1 e Fif -
Telt-1 Get-11
(e gragarat / wfeares ) (W= 2 <t e (@)
A 33U 3R A40 1| L UHi%d Ud 3R < e (F9) 397
B 3 dnws I THF il S9mH
C W Ol i 2r=nSanms
D. FfH RIm IV. 5 92 SRusad died
Choose the correct answer from the options given below :
14 feu 7 famedi 5 | Wet 39 1 947 FIT :
(1)  A-LBIICI,D-IV () AJBI,CHI, DIV
(3)  A-LB-IICILDIV @) AIV,BILCLD-I
Who has propounded the ‘Purchasing Power Pairity Theory’ ?
(1) GustavCassel * (2) S.E.Thomas (3) S.A.Pigou (4)  Alfred Marshall
‘F73 9fF Foa fagia’ & wfaes Frefated 3§ 8 361 &2
(1) T Faa @) THE 4mE (@) TET b (@) TR A
19
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63.

64.

65.

66.

: f Quick Assets?
: 00, what is the value 0
, . .1 Inventoriesare¥ 3,00,000, 5 e e . z
f Current Rafo 45 1, Liguid Rat ™ L;:n 1 g B A R 3,00,000 %, @1 @ qf(q‘?gﬁooo e g 67- [:r
7fe =] I 4.5: 1, T =3: 106 G 2200000 @ 600, : :
(1)  9,00,000 @ 3000 o
¢ D.
Match List - I with List - II. List-1I E
List-I (Located at) P
(Name of Export Promotion Councﬂs? S L New Delhi %
A The Gem and Jwellery Export Prometion Cou . : I Mumbai
B. Electronics and Computer Software Export Promotion Councxl/ S e Sinis -
C Council for Leather Exports . < v Chennai C
D.  The Cashew Export Promotion Coungilof India =
géiq:;m ‘{f:ﬂ’—llmﬁ!ﬁﬂaﬁﬁﬂl: s 5
- Ch
7 ( zrafeafd) |
( Frata o= ufteg &1 M) > e
A T TE S frid S R ! ﬂ,ﬁ;“ Q
B, SO SiR T WeRR ftd FaH s IL ! 8 \2,\(1)
c ¥4 g afeg m % af‘ o
D. W s Fafd FaHd 9ieg V. T S
Choose the correct answer from the options given below : a
= e U foshedi B | WE ST I T B ©
(1) AJLBI,CIV,DII @ AILBLCIV,DIl -~ 69. N
(3) A-ILBI,CI DIV @) AJIV,BLCI, DI
Who has proposed the *Balanced Score Card’as a tool for financial excellence in organisation ? A
(1)  RobertS. Kaplan and David P. Morton >
(2) - Newton and Findlay /
3)  Grint
(4) Barlow C
Wﬁﬁmmﬁ?mwﬁwﬁ“qﬁﬁawm”wmwm? I
Q) TR TE. e iR Sfae di. wE
@ = IR e .
@ =
@) @Rl %)
When can brand extension NOT fail ? s

(1)  If, without offering any functional or p.éychological advantage.

(2) IfExtensionis done considering that itis less costly than alternative launch strategy.

(3) It @anagement do not provide enoughfunds believing that the spin-off effects from original brand name
will compensate.

(4)  If customers attribute the quality association they have of original brand to the new product.

FiE var e <o 3 fawa @ & a1 ¢ 2

(1)  afe 9 1 FHAHE 1 FACI T 1 TEl FeH Ht e |

(2) a2 FER 78 qHa ¢ A fh T Sehfeadh YuRH A d sren frderd )

(@) AfE FEeH 78 A §Y T 4 T Wa FA R Ao wis % T % e = ¥ gt 2 |
@) Az aTed A IIE FI ATKIEE SR i TorE A SeRer 7 ¥
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67

69.

- > financial Institus
Arrange the fina stitutions ; .
Indian Joint Stock Bank acc()rdmg to their formation from earlier to latest.

A
ational Industri 5
g ;\r]nperiﬂ Sae of'ﬂizzwlopment Corporation
p. The Reserve Bank of India
E Industrial F?nance COTPOratiOn of Indj
reAfea fersa SR 1 393 1 3 2 ; j
\ s W STTUR ey A TATaH 3 STshH o AATEAd HIT :
g W 3RS Sae= FTURYH
cC T S 3 sfeqr
p. e 9% 31w ey

E IS W HT9RYM 31 sy
Choose the correct answer from the opti i
S ptions given below :
A e T R H QW SR e i -
M AGDEB @ ABDEC @ BCEDA (@ s8 D, C.E B

y[;l]‘écg one of the following is responsible to notify the separate Ind-AS for Insurance Companies w.e.f 15t April

) e o) ey @) IRDA @) IASB
1%2018@@@@%@3%3’@;-@ (Ind-AS) afﬂgﬁamﬁ%ﬁﬁﬂmﬁ@ﬁ?m%7
) SR ) ww @ oSEeRAT @) SEuwEd
Match List - I with List - IT,
List-1 List- 11
(Methods of risk analysis) (Meaning) >
A.  Sensitivity Analysis It A computer generates a very large number of scenarios
: according to the probability distribution of variable.
B.  Scenario Analysis IL Provides a way to present different possibilities so that we

can be sure that decision we make today, take proper account
of what we can do in future.

Simulation Analysis 1. Analysing the projects NPV (or IRR) for a given change in
one of the variable at a time.
D.  Decision Tree Analysis IV.  Analysing the projects NPV (IRR) for a given change in
combination of variable.
-1 < T Geit-11 1 e Hifsg :
-1 eI
( Siifigm farversor fafir) (31ed)
A HagrH fayerso I hOgel R o WIfAshal sied o STER S UGy Sca=1 il € |
B. R favermm I fafie SyEet w6 & fae 9 fafy wem s el '
AR T THha ¢ ff oS TR g o wn fofy wfass & fag
STYH] @ |
C il () fowe m R e g R =R W gew gRads & o @ @ At (o e
TR STR) GRS 1 fegerson & |
D i ge foem IV. ek gae ® yew uiad & e o o = (o1 o1R o)) wiEs
1 fegeTsr T |
Choose the correct answer from the options given below :
13 form 1o Feraed] @ T I ] A HMAC <
(1) A1, BIV,C1, DI (2)  A-IILB-IV,C-I, D-II -
() A, B-II, C-III, D-IV 4)  A-LB-I,CIV,D-III

21




70.

72.

d Technological (PEST) Analysis ?
lan

ic, Socl ! ]
Who has developed the Political Econon!! 2 Mlmzbtr;iker
(1)  Johnson and Scholes @ Peter Dru O ey
(3)  Michael Porters v~ e j‘?ﬂ-ﬁﬁﬁﬂ ( AT T9h1HC
et 3 e ordfr, o, S P

()]

(1) ST SR e % G TH
@) e e

include :
.\ does NOT in¢
One to one marketing (Relationship marketing)
(1)  Identifying the customer
(2)  Differentiating the customer
(3)  Loyal customers are cheaper to serve

4 Interacting with customer y
;a)mfﬁwm(xf;ufawmﬁﬁnfaf@ﬁwmqﬁm%'
(1) U i ggAH HT

(2 ueE ¥ favg s

() FTomm T #) Y vam N G e ¢

(@)  URE F WY Tty (FEH) HA

Match List - I with List - II.

List-1 List-1I
(Consumer Motivation) (Meaning) by which we select, organise and interpret
The process by whic Z et inpug
o Consumernceds ; creati a meaningful picture of the world.
i ly and reflect le’s posis
: Tvati I. Amentalstate thatarise spontaneously eCLPeOple’s posgy
: ket or negative reaction to internal and external stimuli.
C  Consumer's perception .  Whendirected to Spec'%ﬁc objectiyes thaft may satisfy Eeed.s.
D.  Consumer’s emotions IV.  Whenaroused to a sufficient level to drive one to act.
-1 % T4 Ge-11 7 firefr Fifow «
Telt-1 -1
(STviTeRT SRt ) (o)
A SUHER-EEEAE L %mmmmmaﬁmﬁmaﬁﬁﬁﬁaw&ﬁmms
I, AT U =y e &
B.  SUHRRI-I IL %mwﬁmaﬁtmﬂw%maﬁaﬁm?

TRRICH Ffshall it Tod: Se=1 ug wffaifra et 31
C U 1 Fa I STl 31 9 3 Ry fafvre sedvel 3 wf frfom 3R 23 <o
D, SusiET @ A V. . el =i 3 g s o e e 2 e e e 3 4

Choose the correct answer from the options given below :
ﬁﬁlmﬁmifﬁvﬁmwwm;
(1)  A-IV,B-II,C-1,D-II 0

A-LB-II, CII1, D-1v
(3)  A-ILBII,CI DIV @

AL BTV, C.I1, .y
5ok
22 A o
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74.

75.

76.
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0
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74.

76.

Which of the following is/ are e
Entrepreneurial Mode &
Planning Mode B. Adaptive Mode

odes of strategic decision making according to Mintzberg ?

C

C4hoosc the correctanswer from the gy D.  Logical incrementalisation Mode
o ABonly Q) A options given below:
VB, Conly @ BCDonly = (4 ACDonl

35 ST,
! A ot s 35 s e 48 317 87

ﬁmmm?i.ﬁégﬁm:ﬁm. Cc  AsFvEdE D, wdETE aHE Y

Fad A, B
® (d FFWA,B,C (@) FaB,C,D 4 ¥a@A,CD
i e of th ks
Which one of the follow Ing 1s incorrect relationship betweenMean, Median and Mode ?
() Mode=3Median -2 Mean (2) i Median= 1 (2 Mean +Mode)
3 5
Mean= . 3 Medi
® > (3 Median + Mode) () 3Mean+Mode=3 Median + Mean

ez, WA SR SET o site e ey foretferfias § ¥ S99 8?2

(1) eah=3HfeAH— 2w @) mﬁaa?l=l(zmm+@$)
3
e = L iR
§) = 5(3 +IgTTh) @) 3T EEgH =3 HAH + HHA
What are the factors to be considered before entering international market?
A.  Economic factor B. Brand extension factor
@ Social and cultural factor D. Brand loyality factor

E.  Political and legal factor
Choose the correct answer from the options given below:
}}) A,CandEonly (2) B,CandDonly () A, BandConly (@ CDandEonly

m@awﬂmﬁxﬁﬁﬂiﬁmﬁémmmﬁwmm%?

A ST B FEYERFRE C TS AR HEHAH PH
D. dic {1 FRE E  ToiHien 3R fofeeh s
Fr fer TTu faeredi 8 | Wél Sl =T I :

1) FaAA CIRE (9 F9aB,CIRD  (3) HOEABIRC (9 ¥ae C, D 3IRE
Which one of the following refers to Gross Working Capital?
(1)  Total currentassets
(2)  Difference between
(3) Total Liquid assets >
(4)  Total current liabilities

current assets and current liabilities..” -

ﬁnﬁf@aﬁ@ﬁﬂmmﬁﬁﬂﬁsﬁﬂﬁm%?
(1) et = AR ; .

@) =y et S = s el S
3) ?fa?rraqutrﬁiﬁ

(@) e e 2




78.

Match List - I with List - IT.
List-1

(Teams)
A Problem solving L
B. Self-managed : L

o

(& Cross-Functional " 1L

Virtual s IV.
geit-1 3 1 geit-11 1 fer i :

Telt-1

(3m)

- HHIHE ' L
B. W@-Ya&fuqd IL

C gy (3fd-%e) I

DS R IV.

List-1I
(Meaning)
A Work team cOmpOse:
functional specialities.
A team that uses technology to link

to achive common goal. : ials
Teams from same departmentor functional area involved in effory

to umprove work attivities or to solve’?roblems.
A formal group of employees who operate withouta manager anq
aré responsible fora complete work process or segment.

d of individuals from various

physically dispersed membey,

get-11

(erfwr )
ﬁfwﬁma@ﬁwzﬁ%wﬁaﬁ@wwmaﬂn
aﬁmﬁuﬁmﬁ%(w@)awaﬁm%@ﬁ@i@mﬁ
aﬁﬁ%w@@mmﬂ@ﬁ%ﬁmﬁﬁfﬁﬂmmﬁﬁmm%l
wﬁ—wﬁgwaﬁmmwuﬁ%ﬁmmm
o Siopan Sa faum @ o T <A |
mﬁﬁmﬁmwﬁmﬁwﬁmm%m
mem@?%mm@m%

Choose the correct answer from the options given below :

T few Tu el § | T@ ST T FC ;

(1) A-O0,B-II, C-I, D-IV

(3) A-IV,B CI,D-II

Match List - I with List - IT.

List-1I

(Theory/Approaches)
Management Grid

Theory of Entrepreneurial Supply
Theory of Xvs Y

. ERG Theory

1 3 19 Geit-11 1 e i :
-1

( faegia/ 3 )

PECEADES
Safiars 2mfd fagia

X MY 1 fagid

% o1 St fagid

> »a)vnm;>

b (o)

(2),- " A-1, B-III, C-1, DIV
(4)~ “A-III, B-IV, G-I, D-IT

'

List-1II
(Propounder)
Thomas Cochran
Robert R. Blake
Clay Alderfer
~Douglas McGregor

SHREE s

< g

-~ (wfaTeeh )
A TSR

V. STed HEITR

Sz =

Choose the correct answer from the options given below :

i3 firm T ferehedi B A W ST N FAA HIC ¢

(1) AJLBLCIV,DII .
() A-IBLCI,D-IV

()  AdLBILCLDIV
@ AJLBIV,CIL D

79.

80.

81.

% 017X

h List -1 with |

Matc
List-1
(Places wher
on Trade anc

A UNCTAD-I
B. UNCTAD-I
C UNCTAD-T
D. UNCTAD->
7t 2 H19 G-
gi-1
(ETFTZ
A FHphers-1
B. FHpers-11
c FHIE-IV
D. FHpers- X
Choose the correct
3 feg T fashed

@ ALBLCT
@ AILBIC

which of the follo
A. Itis used to

B. Itis a proce:
& It indicates

D. Itis a proce
Choose the correc!
(1) A, B, D only

feregh a1 & Fay
A IHE TEM
B. TETH
C 394 faesh
D. ¥ TH i
= faw e fae
(1) HIAA,B,

Which of the follc
(1)  Bill of Lan
oy =R o v
1 YR




Mberg
effor

er ang

79

80.

81.

Vatch List - with List- 1
List-1

List-II
(Places where Conferences of j: :
on Trade and Developmen hel:;)“ed Nations (Country)
2 N s I Delhi
2 IRt IL Geneva
G NCEAREY II.  Bangkok
DoA IR IV. Narobi
gelt-1% 19 geit-11 1 fierm Fir .
-1 o
(FIH T T 3 Forerrer et v ) (wyear)
A Sihers-1 ;
B dds-II .
c  HRIS-1V R
p. FITS-X 5 e
Choose the correct answer from the options given below :
12 few T forehedt A W SR i -
(1 AILBLCIV,D-I - @  AILBLCI, DIV
() RN SNy @) AIV,BI,C-I, D

Which of the following is/are significance of foreign exchange ?

A Itisused to denote the rate at which different monetary units are exchanged.

B.  Itisaprocess through which international payments are liquidated by different countries.
C  Itindicates the rate of sale and purchase of foreign currency.

D.  Itisa process through which goods are purchased or sold in a domestic country.

Choose the correct answer from the options given below:

() A,B,Donly (2) A,B,Conly (3) B,CDonly 4 A CDonly
foret T % wiaiel B Ao o R fogiR Fifa

THH FAM 39 S 1 FEGa w5 foe 3 & 5w R W fafi= wifss gl < fafa fma s )
Tz U YT (FshH) & e e 9§ STsia Seafmat fafim= el g’ gt i St € |
T faayt ge1 &1 fash! R @ie @ < fFEfud & )

T U Uiehal & foaeh Areaq F-31aeyid (Xe)) <31 H A1 it TS 41 skl Bt €1

£ ﬁ:q U ol § & Wa I F AL HIMC ¢

() FaA,B,D ) FTA B, C (3) H9dB,C,D 4 HFIAA,CD

(=) T@) el e

Which of the following is not a substantive documents used in foreign trade ?
1) Bill of Landing (2)  Marinelnsurance (3)  Billof Exchange ~ (4)  Certificate of Origin
0 Fwr @) e s ) f‘aﬁmw @) 3T YHOYA

25 017




82.

83.

Match List - [ with List - 1I.
n .lS with List 4 " 85'
List-1 M ning)
i eani e
R L Sl'he degree to whichsomeone i clam, enthusiastic, secure ofy,

and insecure.
someone is reliable,
oriented.

e is good natu

Thaheees nervous, depressed

I  Thedegreefo which
persistent and achievement

The degree to which someon
trusting.

Iv. Thedegreeto whic
comfortable in relatio

responsible, dEPQndE

B. Agreeableness
red, cooperative a

C.  Conscientiousness
h someone is Sociable, talkative, assertive,

D.  Emotional stability hip with others
ns :

G-I 3 et Feh-11 1 e i

geli-1 geli-11
( reyfTeh T ) ( aferuma) , 4
A dfedE L m@mwﬁéwﬁamm,g{fammﬁm.a@
sy S STaRd T ¢ | \
B.  TOTHG! (HRRIE) I ﬁa@mﬁ@éaﬁammﬁqﬂwmanw
@ @@ |
c foassiem e ﬁamw@éwﬁamﬁuﬁmmmmﬁnfw
3 el 2 |

IV. £ T TR IS AR SIS, ST, GEaTgeeh 9T A1 %

D.  MEHHS wfaE
maﬁtmﬁamaﬁﬁuﬁwm%l

Choose the correct answer from the options given below : 86
e few T ferehedi | WA ST Hl T FHIAC ¢ '
(1)  A-LBILCII DIV ()  AILBILGIV,DI

@  AILBIV, C-III, DI

portunities and threats in relation to inte

() AIV,BHLCIDI, ~

*A critical analysis and assessment of strength and weakness, op

and external environmental factors affecting an entity’ is called :

(1) GAP Analysis )  SWOT Analysis .

(3)  PERT Analysis (@) ., Value chain Analysis

“ - . . 9 .. . . . 9 .
et SRt b1 geIfed T AT mﬁmqaa@wfawﬂwmé?wuﬁwn@amgéaqaﬁ, AT A48

¥ AT faveuT i qediA ! 1 el ¢ ;

(1) 79 (GAP) fawerdu @ @ EWoD) fawmm

(3) W (PERT) foemm @ T e e

Arrange the stages of evolution of Benchmarking from First Generation to Fifth Generation in proper order.

A Reverse Engineering B. Strategic Benchmarking ,C. Process Benchmarkin,
D.  Global Benchmarking ~ E.  Competitive Benchmarking j

frrra  FEy fog # frefafEd sesaet #1 9o Wighq u= fidt & ol
: 3 : qqfea oqwd |

A fdEd AR B.  TUHifqes Mev-fo@sa C Wi ey e

p. Afgas fFey-feasd g wfaef féy-fegiaa

Choose the correct answer from the options given below :

) fir T s B & W I 1 A HISC :

(1) ACBDE ) AECBD 3) B,ACD,E 4 GCB,AED

260 / X

which of the f

A Future
B. Preferes
(e Valueo
D. Reinves
E. Risk
Choose the cor
1) B,C, D
o % faT TT
A a3
B, dqA S
G gq hl T
p. AMHew
g SitEd
= fag e for
@ B,
Match List -1+
List-1
(Propou
A Micheal
B. Joel Dea
C Johnson
D. David M
get-1 5 |9 -
Geit-1
(T
A fRE
B. S SH
C SEEAC
D. faswi
Choose the cor
9 f e fare
(1)  A-IBI
(®)  A-m,BJ




]daEl

Ve X

Y,

R faw

e

to inten

} e Ee

- order.

86.

Which of the following are re

aS0ns for time pre

ference for money ?

A Future uncertainties,
proference f
B. Preference for present CO“SumptiOn_
¢ Valueof money would be increased
D. Reinvestment opportunities ;
E Risk
e the correct answer f .
o D only €rirom the options given below:
(RS =y @  CD Eonly 3 A, B, D, Eonly
5 T > ) 3)) A,B,Conly (4 A,BD,Eonly
i A AN T TR Frerffen § § SRa®?
p  Sfasa S sfHfesEa
p.  SHH SOMIT S Wafea
c ¥ W1 ¥cA afda 2
p. RSN S STEEK
g Si@d
#a fee e foacdi # | W@ SR =1 991 Fif
() $99B,CD () ¥E@C,D,E @) %9AA,B,C @ F99A,B,D,E
Match List - I with List - II.
List-1 List- 11
(Propounder of theory) (Theory/Approach)
A Micheal Porter . L The cycle of competitive degeneration
B. JoelDean . Value chain analysis
C  Johnson and Scholes I  Balanced score card
D. David Morton IV. . PEST analysis
TE-1 3 T geit-11 1 foe e -
-1 -1
( Fagia & wfades® ) (fagia/3TmH )
A @ dR LS ST =
B SaEd I T e
C  JFEA TS vied L i
N e v, 32 (PEST) fawawm
Choose the correct answer from the options given below : \
1 feg e el 1 2 T S T FIO D
@ AILBLCIV,DII

AT, B-IIL, C-L DIV
A, B-1, C-IL DIV

)
@)

@

A-IV, B-IIIL, C-1, D-IT v

27



87.

88.

89.

Match:,.istt -ll with List - I1. List-II
ist- i
Explanation) A
(Capital structure theories) I {’r)c()}\)/ide a behavioural jushfxcahon for the

al structure. They maintain

Al NetIncome approach
alue of the firm

irrelevance capit
that the cost of capital and V.
do not change with change In leverage.

IL Marginal teal cost of debt will be equal to the rea,
of equit !

1L Caef?ital);tructure is relevant as it
capital andvalue of firm
Capital structure decision of a corporate does not
cost of capital and value of firm.

B. Net operating income approach,
< affect the Coy
G Modigilani and Miller approach 3

D.  Traditional approach

GEt-1 % T Geft-11 7 e i :

W—I '{Fﬂ—ll %
(¢ S . (mu]

A. ﬁ?:q;rqwm) L ST STAET) Yol SO o T AT o
YT FA | SR A & o G @
mwﬁm%muqﬁaﬁﬂﬁﬁmy

B.  faet werere® s samm IL S e 91 T S H=A A 5y
B

C  Hdfier iR firer o M. o e S & i e it T SRR
Ted T ST STl @ |

D.  fE s IV, femel e i oftr dee st o &
ST T TR $HeRT Hiel YHIfad e erdl @ |

Choose the correct answer from the options given below :

e o T farehedi § & W IR S i

(1)  A-LB-I,C-II, D-IV (@  A-V,BILCII, DI

() A, BIV,C-I,D-I (4)  A-ILB-IV,C-I, D-II

Behaviour Modeling is a type of training programme which the organisations may adopt to train its employ
Which is NOT included in Behaviour Modeling ?

(1)  Modeling | (2)  Role-playing

(3)  Social reinforcement (4) ' Presenting questions, facts or problems to the learner
AR FRETT A0 Hredohm 1 o T & R ST e a0 wrerfee e 3 feru Hrai gry s
TRl & | SRR wfreaw 8 frefifera 8 & F 51 wftel 7 & 2

(1) wfeEqo @  YfF-frafe

(@)  HHISS g (@) T, T A S B STt 79 S
Arrange these studies/approaches relating to managing men at work from earliest to latest.

A.  Human Relations Approach B. Scientific Mariagément Approach

G Behavioural Science Approach D.  Human Resource Development Approach

E. HRD Score Card Approach
mmﬁaﬁ%ﬁméﬁwﬁﬂﬁf@aamﬁ/W®m@W%mﬁmﬁmm
A THd G4 SU0TH B.  ORIfTeh YEEH ST

C.  HIerRYLH A SIrH D.  HFE S99 faem s

E. U9 3R 2 &R FH1E 390

Choose the correct answer from the options given below :

= feu o faswedi § | W& 3T H =9 FHife

(1) ACDEB @  BACDE ®) CABD,E 4 D,ACBE

28 0

90.

91.

92.

93.

Who was elect

(1) Suresh (
) Gulzaril
2 AT &
1 FEIZ
(3) ) G S RA LS
Which of the fo
A Power di
Choose the cor
(1) A,B,Co
12 BEIS 3t
A wfFE-gh
=t feu e foe
(1) FAAA,F
Which of the fo.
Medium Enterp:
A Micro Enf
D. Tiny Ente
Choose the corre
(=, B, G D
faefafad 5 9 3
1 T € 2
A H&H 3JTH
D. 9gd 3K (
= fT T fase
(1) HIAA,B,
Arrange in seque
Al Choose the
B. Set up null
C Select appr
D. Establish
E Perform co
HIFHTIAT GUHE 3
A Y- T
B. [ JTFhcs
C  3I9gw Hife
D. fyuig-fam
E.  Yfitsed ¢
Choose the correc!
T few mu fawcd

(1)  CA,BDE




al QOS“
“Ost 91

teffy

' 92.

93.

Hife |

Who was elected as the first Gen b
Guresh Chandra el Secretar : : - .
1 Baﬂer]ee Y of Indian National Trade Union Congress ?

(3 Gulzarilal Nanda ()  Khandubhai Desai
< TS € F Fidrg 5 Yo (4) _ Vallabhbhai Patel
o IR S fetfefn & @+ Frafam g o2
@ e Py ST T
@) * TR ged

Which of the following is /are dime
A Powerdistance B, U
Choose the correct answer from th
o A,B,Conly (2) B,C,Do

; \ Ehe B A C Dol 4) A,BCD
o FEEIE S T e e o s s e 7 €
A U B SN W & Fretferfian 3 9w @ s o 7 ™ €2
2 O :
ﬁmmﬁmﬁ@p@wmmm~ e e

F9d A, B, C
(1) (2 Faq B,C,D @ #aAA,CD @ ABGCD
Which of the following classific o ‘
fesnniepnes Developm;t ?&zﬁgg;’::)made of enterprises (Industries) under the Micro, Small and

Micro E i
A fr.lcr% nterp.nses B.:  Small Enterprises C.  Medium Enterprises
D. iny Enterprises E. Large Enterprises
Choose the correct answer from the options givenbelow :
(Y B§ .CéD iy @ ABCEony\) 3 BCDEoly (4 ACDEonly
mﬁanGaP SEHT (SR 1 -0 anitary) g, 9 ok e Se fas (MSMED) S’ % e

e

ncelotn? of culture developed by Greet Hofstede and his colleagues ?
rainty avoidance C.  Masculinity D. Participative

€ Options given below :

A  gH =M B. Y EH C  womwEm
D. sgorR (fef)sem B &2 (3za) wem
1 feu T faeredi & F Tl ST 1 57 Fifa ;

() F99A,B,CD () H99ABCE (3) 99B,CD,E (4 HIdA,CD,E

Arrange in sequence the process of hypothesis testing.
A Choose the level of significance

B.  Setup null hypothesis and alternate hypothesis
C  Selectappropriate test of statistics

D.  Establish the decision rule

E  Perform computations and draw conclusions

otz fram Fefad T
e e aen frerd TR F

e options given below :

A
B.
© ngf@aﬁ-qﬁm'ﬂwm
D
E

Choose the correct answer from th

13 fog ma faeci 8 8 T T F T HAC
() CABD,E @ A D,CEB 3) BACDE 4) AB,CD,E
,A,B,D, e 2

29




94.

95.

96.

97-
Match List - I with List-II. List-1I Bk
List-1 (Compames/organlsatlon)
(Name of Leader Entrepreneur) T Avaya Global Connect
A Philip Knight 1 Nike 7
B.  NiruMehta . Ranbaxy Labs d
G Jyoti Jeevan Naik In\l, Shri Mahila Griha Udyoglijlat Papa
D. Malvinder Singh 2%
Felt-1 % o gt -11 1 e iy : e
GeAt-1 o
: FHufar /JTeT )
(ST / St T A ) ( el b
A firfeg e -
B. & He e % deq
C  Afd i TEw o et T T foed TS 98.
D. Hefa<x g V. A T y
Choose the correct answer from the options given below :
= fau Ty foehedi & & W I 1 A HIIC :
(1)  ALBIICI, DIV (2 ALBLCLV, D'lllé
(@)  A-ILBILCI, DIV Wi IV ELED T
Which of the following are Financial Assets ?
A.  Share B. Debenture .
C. Lease Obligations D.  Property plantand equipment
E. Borrowing from Financial Institution
Choose the correct answer from the options given below : Eonl
(1) A,B,D,Eonly (2 C,D,Eonly (3) A,B,Donly @ A BCEonly
ferdt wftafee fretifera 8 @ FH-4 82
A T (IR) B. W C/ ) e aEE
D.  Hufd 957 33Uy (39ERY) E.  fodia S 9 SUd
el faw o faspedt # | W I H1 A HI ; o
(1) %aAA,BD,E () #daC,D,E () HI@A,B,D (4 FI9A,B,CE ;
Arrange the steps in strategic planning in proper sequence.
A. Define Mission and set objectives
B. Define strategic issues
G Analyse existing strategies
D.  Develop new or revised strategies and determine eritical success factors
I Prepare and implement plans
TR SIS & |9 6l T STHH B oAafeerd Hifs
A T wfenfua 5 aan @e feifa S
B.  TUrifdes HEal ol affud e
C  foemm worifaE = faveron s
D. aﬁamwﬁmwﬁﬁﬁﬁﬁmmamwmmmﬁwm
E. IS daR L de1 38 fhafad Fe
Choose the correct answer from the options given below :
= feu 0 fasedi § | F& ST 6 T4 Hifom
1 A,C B,D,E 2) A,B,C,D,E z
(©) @) @) ACDEB @ B,ACD,E

=
30,

01X

>
la ]
-
»
|4

HEDROERF T ri ' >
@
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98.

which of the following is / are factors g e :
by Kaizen ? 8iven Weightage viz. ASTEM for evaluating the quality of improvement

p.  EnergySaving _ E i{a:ity C. Productivity
Choose the corre]Ct answer frOn‘l the Opﬁons ;gemel?t -
. ABConly gyt e Een el -
wmgwﬁmmw- i (® B,C,D,Eoﬁl)./ 4 ABCDE
(wrrg) fe S &2 m%m“ﬁﬁ@umﬂw)ﬁﬁmﬁmﬁ@mw@(ﬁﬁm
A 1 B. m
C  SERHA
D. 39 H W. ; E e
ﬁmmﬁmaammmmw.

() ¥WAB,C @  ¥FadAB,Cp

()~ “%a@B,C,D,E (4 ABCDE
Arrange the following Process of zer

0 base budgeting in proper sequence.

A Determination of Objective of Budgeting

B.  Development of Decision Units, :

C Develo;?me.nt of Decision Packages.

D. Det(?r mination of t.he extent to which the zero base budgeting is to be introduced.

E Review and Ranklng of decision

Wmmﬁmm%mwﬁmml

A TSRA % SESE H fui

b foia S = e 4

¢ e el o ¥
D. 39 U 1 FuRor 5/ W v s e e s & :',
E  foia =it geien oi soaga i
Choose the correct answer from the options given below ' )
A e T foenedt & 9 W S 7w Hif

) AB,CD,E (2 ABDEC () AD,B,CE (4 BADCE

Which of the following is correct statement about PERT and CPM technique ?

A Both the techniques use similar technology and same purpose.

B. Both the techniques were developed dependently of each other during 2005.

C  PERT was developed and used in conjunction with planning and designing of the polaris submarine
system.

D.  CPM was developed by the Du Pon’t Company,

E  The use of PERT and CPM techniques is made in both planning and controlling of the project.

Choose the correct answer from the options given below:: s

() A B,Conly @ BDEoenly @) ))A CEonly 4 A,CD,Eonly

% o 3 sive <t ww wfary & A H Freifnd 5 8 P T HEE W6 T2 :

A ﬁgﬁwﬂmwaﬁtmmwmg.

B o 2005 & 2 wfafer T gER T SATAd T H fashfad i T of |

C 4 sy 2 ens TeRg ST 3 AT A S e % W faa Sl s € o

D %t magire S G R fo T €1

E ﬁégghzﬁﬁ@mmwmm%mmmwﬁﬁmm%l
™ o 3 ) T IR T T I :

(1)fa§':§—IABC () ¥aB,DE @) FaAA,CE @ ¥aTA,C,D,E

31 017




100.

101.

102.

equence. 103. }

analysis in proper s
1t trends.
ntified trends.

Arrange the steps of PEST
A.  Understand a category .
Distill lively issues from theide

s relevar

2% {encies /
& Understand trends interdependencies:

D.  YForecast the direction of issues. e :
E.  Deriveimplications for the orgarusatiot. fmm T :

= (PEST) forerawn ¥ Haw 1 qaf=d ST ¥ :
A SR F Wi T S FEE

B, foeifed Tom @ e qadl 1 ST U '
C T o R g

D. TR feem 1 g FT %

E 9o ¥ foru fafeard e T

Choose the correct answer from the options given below

2 few e faeed § ¥ W& IR H TAH HIST : VDAY A
(1FATC,B)D;E @) B,ADCE @ CADEB 4) Ao i

For a given set of pair data, the correlation and regression coeff.icients have been cefnlcul;:ltec;l iz;shl;ilgg :22311 gf,éh 5
and bxy respectively. Now, each of values in the x series is divided by 4. What effect doe ]
coefficients ?

(1)  The three coefficients remain unchanged. _ C
()  Thereis no change in . byx change to byx/4 and bxy.changes to 4bxy.

()  Each of coefficient will be reduced by on fourth of its value. 9

(4)  There s no change in r but byx changes to 4byx and bxy.changes to bxy/4. : ‘
et farfied 9 < Tgeara 6wl & we-gsiel SR FfarT 0Tihyeh1 Teher HH: 7, byx 3R bxy % 9 H {01

1 3T x G T A T 4 R R ST 1 5 Y e e I A T Il € 2 e,
(1) < e STafafid W ¥ » , &
@  r¥ X e TE B R, byx byx/4 F URERIA &1 Sl € 37 bxy 4bxy H GRAfdd & ST T | (1)
() IS UIH H W THE HH HI Teh TG IS ST | ®)
@ ¥ Ui & e & R byx 4byx B UREfid B € 3R by bxy/4 § TRafdd 2 € | 104. Wi
Match List - I with List - II. (L)
List-I List-1II ©)
A. Securities premium , i Current liabilities s
B. Patent . IL Current Assets (1)
G Short term loan and advances III.  Intangible Asséts
D.  Tradepayble IV. * Reserve and)urplus ®)
-1 3 T Geit-11 1 e i : "N 105. The
et e A
A wfayfa sifaa L =R D,
BRSO L e wfEety Chc
C  eTeuIfes Ho 3R Afm M. 37 aREafy @
D. M < IV.  SIRfEd iR stfiey %
Choose the correct answer from the options given belo : A
4t fa e fopedi # | W& W F T4 FHifo ; m/ D.
(1)  A-LB-I,CIIO,D-IV @ AV, B Cq D ;
()  A-I,BIV,C-I,D-I @) ALBII,CIv, I[?-Ii :?
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3 Match List- I'with List-1r,
L List-1
(Negotiation Result) List-1I
A Win-lose , (Meaning)
: X Both Parties get what they want, the parties believe in mutual
p. Losewin_ -~ . _gain
2 e ~____T- Both parties lose or do-not get what they
c  Loselose _— /\ o wantand reflect an attitude to takeitor leaveit.
- = I | “The negotiating parties think that ‘winning is every thing’
‘ & &P
D. Win-win / ___ . onwinning is the only thing.
; IV. “One Party achieves most and other party loses ot gain very
-1 1 -1 1 e e e
-1 '
-1
(IERTAT ( S ) witry ) (st
A -8R : ) : .
L ﬁqmaﬁmmtmﬁfwﬁ%qﬁlwwm‘
by‘ ER—Gﬂ'd W‘qﬁ ra?a HW%I
hei 2 IL ﬁqwﬁaﬁzﬂﬁaﬁ%aﬁts‘%MW?W?ﬁﬁ
e freeht # 31k 3 70 < 1 9 A el St Faid I €
C IIL. am%ﬁam@mmtmmﬁ%ﬁﬁﬁﬂﬁw%aﬁﬁﬁﬂﬁ
Ee i THAR A8 ¢ |
D. 5 IV. @qmaﬁafwmam%m@vwm?ﬁmm%mﬂ
LR g A A Bl € |
Choose the correct answer from the options given below : 3
3 fou T fohedi # | WA ST H T FIS -
() AILBIV,CILDI @) (AILBI,CLDIV
(3 A-LBI,CII,D-IV ()  AJILBILCIV,Dt
104 Who among the following proposed Structuralist theory of Inflation ?
() Myrdaland Streeten (2) ~ Keynes
(3) Miton Friedman (4)  FritzMachlup
Wﬁ#wmmhmuﬁwﬁmﬁf@ﬁﬁ@mﬁm?
1) g iR e @ &=
B frrea wisid @) > fre e
< ‘
105. The factors that cause stress are called stressors. Which among the following are Organisational Stressors ?
A Taskdemands B. Role demands C. . Interpersonal demands
D. TypeA personality E. _ Structureof the organisation

Choose the correct answer from the options given below :
() ABDEonly @ ABG Eonly IN@) BDECoenly (4 BCDEonly

ém@gﬁaﬂmm%qﬁﬁﬂ*mﬁiﬁﬁiﬁmﬁémmma%?
A FE A . p e C  SradAtE [

D 21y U Al g e ol HE

ﬁmmﬁmﬁavﬁwwmm=
() %4@ABDE @ ¥a@ABCE () F@BDEC (4 Fae B,C, D, E '
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106.

107.

108.

¥ 57 109-
¥ T anisahonal change - tzber
Who has given/suggested the 7-S framew olr(l;rfor 0 g(g) S iEvode @) Min g
(1) MC Kinsey (2) Peter Druc frl?
s e 3 ferg 7 S 1 G T B @ P
3
Q) AR @) RIS ®)
Match List - I with List - 1L
List -1 List-H1
ning) ’
(Test) (1\'1":‘.S ; & licalile vwhen the objective is to compare samples fry,
A Chi Squareiest I' i PllJ tionand samples are matched pairs.
two popuia : lations that require
B Sien T I Test is used for comparing t‘he POPuba.h. distribution 4
: Rt ; assumptions about the population probey. lty drawn from
mples
(& Krushal-Wallis H Test: I Used to compare thfe mean of two samp 1
2 independent popu lation
D.  Mann-Whitney UTest - Iv. Testof go'odness-of-fit
-1 3 |rer geit-11 i fHe i :
Teli-1 et-1I
(wlteyor) ( 3y ) : S
A T TERR E | e e v e A & o SR ) Al 8 A 5
ﬁmmm%aﬁmmwwﬁmm%'
B fome wham IL ﬁqﬁmmmﬁw*mmm?[“ﬁm i
: qﬁmdaﬁ?aﬁﬁﬁémﬁmaﬁﬁ?ﬁﬁl :
C  Fy Sferd = e L mmaﬁtﬁaﬁmﬁmﬁﬁauﬁﬂﬁ%m‘ﬂﬁwi
feru feman STt 8.1
D. HH-faed g wEm LV TS S fRe TeT (STIRT 1 STeSE )
Choose the correct answer from the options given below :
= fau T fashedi § ¥ WE SR H =TI SV ¢
(1) A-IV,BILCI, DIl < (2)  A-IV,B-I,CIII, D-II
(3) A-IV,B-IICI, D-II (4) AL B-IV,CII, D-I
Methods of Demand forecasting include : 0
A.  ConsumerSurvey Method B. Market experiments
G Econometric method D.  General opinion
E. Fluctuations less market SE
Choose the correct answer from the options given below :
(1) A,Band C only' ' (2) ~\/\., DandEonly  (3) (€4 2) apd E only ) B,Cand D only 111,
AT gatHrA i faferdi § i @
A udTE gae fafy B. SR WM
c  #dfufq fafa D.  HHHE H
E  Sdr-wed Ied 9
9 fau U faeedl § ¥ WE ST 1 AT HIT :
(1) Fa@ABIRC (2 FAAADIRE @) e
© CDSRE @) ¥FawB,caikD
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109

the Institutions f
Arrang® T entreprq
§ Neursh; ' .
i pradinie Developm oy developmem with the year of establishment from earlier to latest
: s

o
World Association of S "ganisation (SIDO)
an

B e
¢ Entrepreneurship v edium Enterprises (WASME)
ey Nstitute of India (ED
p. NationalSmallScale Industrieg Corporati Sy

; : ra
g IndianCouncil of Smal gy f (ICs) i

prfatEd e faehT ey 5y P
A I we (g
3T TN R (WASME)

T T (EDIT)

p, A 9 FE Fr (Nsic

E. S T SETARE (10

Choose the correct answer from the optionsgiven below :
12 few T ferred & QT S e

}yy A,C,B,D,E 2 ADEB,C ® CDABE @ BACDE

“*mm@m%mﬁmﬁm;

110. Which among the following is NOT needed in Communication ?
(1)  Toestablish and disseminate the goals of an enterprise
) Todevelop plans for their achievement
(3)  To transfer information overload
(4  To control performance
o 3 Feretfetaa # | g ST T& e €2
(1) ot 3er 3 el 1 i q FHid HE
@ s ST i fa Ao e AT
() g SATER FI S BT
(@) froreA-frEao HT
cated to their work ?

neur is/are task-oriented and dedi

1 i trapre:
Which type of Intrap (2)  Creator Intrapreneur G

()  EmployeeIntraprencut

@)  Implementers Intrapreneur
(3)  Doers Intrapreneur

%mﬁm@ﬂi@@mm%wﬁmﬁam@ay%?

e 3 @ e TR T/

Wﬁ et @ EoE - S
) ! @) Tt - U
(G) - 3T
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115

112.  Which of the following is/are correctabout free Trade?
A Free Trade attracts foreign capital.

cies.
B. Free Trade removes chances of monopolnshc tenden

otection to the interest of consumers.

C. FreeTrade provides maximum pr
D.  Free Trade leads to unfair distribution of wealth.

Choose the correct answer from the options given below :

(1) A /B Conly @ ACDonly @ B CDonly
Eﬁﬁw%mﬁﬁﬁqm/gg—gf%/%a

A T SR faReh o ) sTewfd e ¢

B. Tﬁwmvﬁﬁww@wﬁ@%amﬁmwmwwm%

& gﬁwm@ﬁﬁ@%%ﬁﬁﬁ%ﬁﬂﬂﬂ“ﬁ?@%

D. T AR 35 el T ) o Sy fo 2 €

e T T foedl # § Wl ST 1w HIT :

(1) EAA,B,C @) ¥a@A,CD (@) HaBCD (4y FaAABD

@ ABDonly

113. Arrange the steps in Recruitment and Selection process from startto end :
Employment planning and forecasting.

Applicants complete application forms.

Building a pool of candidates

Using selection tools

Candidates become employees

zl ) ) (o) A e

Interviewing candidates to make final choice
vﬁ@hmm%ﬁwﬁ RN | 31 3 A H FAfed AT :
AT STRASHT SR gaige |

S SATEEA BT bl i € |
FreaffEl o Tyg fAfHa T

=g STEH 1 AT HL |

F733ff o1 HHAR 1|

3ifi fahed TaR 1 o foe 27+l <61 HETEhR HE |

Choose the correct answer from the options given below :

% few U fashedl § & W ST B AT T ¢ .
@ ABCDEF (@ ACBDEE (@ ABDECF @

mm g N ® P

A,CF,B,D,E
114. Who has firstly used the word “Terms of Trade’?

(1) AdamSmith (2)  Alfred Marshall  (3) A:C- Pigou (4)  Frank William Taussing
g i 23! (ST ¥ ) ¥R BT FeAwerw e fe on 2
(1) ueA e (@ FSFETRE @) T W @) e fafeam <

. X
X 36 o'




ym Taussing

2ffEn

017

which of the following
5.

are ¢
Orrect formy, of Break Even Point (BEP)?

Fixed cost
o et

B.EP. = ~
" p/v Ratio
BEP. = Fixed cost
ey
sale . -~

Cha_n e 1
BEP. = ——8C 1N profit
C change in sales

i Fixed cost
D. """ Contribution Per unit

E  BEP. = Actualsale — Margin of safety
Choose the correct answer from the options given below :

Hon
() ABCDonly () ACDEonly (3 A BD,Eonly

e W fog (B.EP.) & W&l g Feifrq § a a A 2

LEREASING]
A HIT R BEP)= e
JERGRSING]
B Hgem ¥R fog BEP)=157 smemm
o =
oy H e |
(3 me(BEP):Wﬁ*
fraq T
D, Hded ¥X fag (B'E'P')=Ww—
E. WW'@%’(B.E.P.FWW H
HIfSY :
13 i o ferred A @ W@ I AT

@ F4AACDE (3 FTIABDE
() #adA,BCD

37
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B, C, Eonly

%ad B,C, E

017

4 k3



116.

117.

118.

119.

120.

ith Li List-1I

Match L-ist-lwnh List-I1. (C_]uster) i i

L L Doing anything improper

Action isation

A. (Cocmpl))ring withsafety, harm the oc:gg:;-ilc

Health and security regulatlons-d g  Customer
B. ;vlaking declisi;)irrl‘s without regar o Becominga dependable organisational citizen

Or persona g J 5
i Jaims in produc

3 S;:e\/rzler:ge:\:e = s V. Being good to customer
D. Providiﬁg products and services Of .. = -

the highest quality :
eI 3 ey Get-11 1 et IS - e

F::;) ('aqgfaa) 1 FHE g8 HSA i &fd 2nf
A e, e ok g fafrae 1 ST 1 #E
B, SR o 1 S TQ &R o R L Tk Wi ( )
C S e T I W;‘gﬁ'fgl :3‘Fn
D. mwaﬁmaﬁtmmm V. : Teh =
Choose the correct answer from the options given below :
2 fau T fasedl § ¥ W@ ST H1 =4 HISC : I
(1)  A-JILB-IV,CII, DI @ ALBLCIL D]-) I
(3) A-ILBLCIV,DI @ AIV,BIICI,D-

Which of the following Financial Institutions does not provides /belongs to short term agricultural credit?
(1)  Primary Agricultural Credit Societies

(2)  Central Co-operative Bank

(3)  State Co-operative Bank

(4)  Central Co-operative Land Mortgage Bank

frafafad § ¥ F17 1 fada T seadts F SHR Ta FeH Hayd Fafad 76 ¢ 2
(1)  wafhe Hiv 3R gfafq ¢

() FHEEHEHEH b

() T TEHRI Sk

(@)  FHEE FEHL g Suw 9w

If onaverage 2 customers arrived at shopping mall per minute-What is probability that in a given minute, exact
3 customers will arrive ? j

e—2=1353

St S 72 S 2169 30 1 ) 0 () 3 3 7 35 o7 ) e foe
e =

1 902 @ 1353 6). 2076 @ 1804
Market premium is 7.5 percent, market rate of returns js 15

6, betais 133, . : _
7fg A=k Hifaaw 7.5 fave 2, AN FfTheT T 15.6 3, wftey 133?I ls?h m\é\lhat is tg;;/;\l: %qmty sh;rr; ;

a 156 ¢ ; @ 31 @) 2884 @ 237

“Dividing a market into distinct groups of buyers o i . igh
require separate products or Marketing Mixesy” is carhg:je.basls of needs, characteristics or behaviour who mig"
(1)  MarketSegment (&) MarketSe i

5 Marketing Targetting n gmentation

" eI, AU 1 TR % SR i F%m 5 ggal'ket Positionin

mfaqmnfcwﬁmmmam%,"@mmﬁ?:mﬁamﬁﬁmﬁa%mm%mﬁgww
(1) ISREE ) Wa@m
@) fouum @& Oy,
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124,
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s

122.

123.

124,

Vfatch List- 1with List. .
List-1
(Parity) _
" Interest Rate Parity List- g
purchasing po L %Zani“g)
§ Power pafity ma ‘T(Ward @‘XChange rate should be what the foreign exchange
Forward rat 1L it J et participants expect the future spotrateto hes e
& o ates and future CO'U:"EtrPerfectcnpital market, real rates will be the same In all
ies.
: . R hstexchangp rate between two currencies y
D. International Fisher effect Pot rate parity of two countries equal the ratio between the price of
IV £00ds in these countries.

The relationship between interest rates and exchange rates of two

@—l%ﬂ? Get-11 Eﬁ'(ﬁqanw . countries.

() TE-11
A N < "HAT ~ (m(m))
: mﬁﬁmmﬁ-&sﬁﬁﬁmw%ﬁuﬁmﬁﬁmaﬁmﬁu@
g %4 Ve wHal T =2 3 H7d B e |

c 3T M e e, o 5 e e ¢ @i 29 3 O A A
UL ﬁﬁﬁ@ﬁ%um%@mmﬁﬁm%w%uw

p. S YR W A ST T #

Choosethecorrectanswerfromtheopéz "G’f%?ﬁ%ﬁuwmaﬁ 3iR fafra <2 | Hed

43 feu e fashedi ¥ 9 W s ns given below :

(1) AIV,BILCLDIT SEEITN

() A-LBIL,CIIL DIV () AIV,BIICIL DI
4) A, B-IV,CI,D-I

Which discipline has NOT contributed to the field of Organisational Behaviour ?

1 Psychology ()Ecas ' 4 :
T AR 6 & § ﬁwﬁr:cfltog %—q fon 3 W@) f{%?’g;‘fgs? (@) Political Science
Ul () EESEE @) e @ T faRr

fBIT: ?711,20,000, profit before tax= ¥ 3,20,000, Fixed cost= ¥ 700,000, what is the value of combined
everage ? i

EBIT = 2 11,20,000, % 3 Y8 @14 = % 3/20,000 s {7 AT = X 7,00,000 % 3 gfHA @Y (combined leverage) 1
A fefern 2 2 ,
(1) 569 LR (3 1625 @ 1569

Arrange the following steps involved in the valuation of merger.

A Identify growth, profitability, assumptionand estimate cash flow and terminal value.
B.  Estimate the costof capital and compute present value of cash flows.

C  Evaluate the impactof the merger on EPS and price earning ratio.

D.  Decide if the acquisition should be financed through cash or exchange of shares.

Decide if the acquisition is attractive on the basis of present value.

E

ﬁm%@mﬁwﬁaﬁﬂfﬁf@“mﬁﬁmm; il

Wﬂammﬁﬁmmammqwﬁmml

B, ﬁgﬁﬁmmmmwmm%aﬁmq@ﬁWMI
@aﬂ%ummwmmn

i A HA |

E 7z gffeEd wT

Choose the correct answer from the ;p;ions given below:
. a ﬁ—( ﬂ 1 “
4 few 1 faedi # 9 ¢ D, WBE @) BAEDC @ ABED,C

() "ABCDE )
39 017




125.

126.

127.

128.

129.

130.

Lovation” of Entrepreneurship ?

ies and Inr
e RebertR. Blare
-

heory of Opportun Frank H. Knight (4)

Who has propounded the Tt 4 ©)
(1)  PeterF.Drucker  (2) Frank W. Young ﬁc{ﬁqﬁga b= fopaa T ?

St 3 * T 3R TR % et :
1) Tt T @ S 3 . EE @
t of data increases by 127

Which one of the following is correct if each of the v
(1)  Increase the mean by 12.

(2)  Increase the standard deviation by 12.

(3)  Increase the coefficient of variation by 12.
(4)  Nochange in the value of coefficient of va

qﬁﬁ%mwmmlzwﬁmm%
1) T E 12 i @ S
) fereer & 12 9 9fG @ ST

Yad AN, =

alue of the se

riation.

ﬁﬁfﬁaﬁﬁaﬁhmvﬂ%?

—~
N

(@) R o A 12 9 g & S

@ o e 3 T A i e T e

In which year India became the member of the World Trade Organisation W.T.O.)?

(1)  January 1995 @) March 1990 @ April 199 (4)  February 1996
WA fovd =R WA (S a.) =1 Tee g ad o7

(1)  SHal 1995 (@ 199 ®) 3T 1994 @ 11996

w in reverse order (from later to earlier).

Arrange the Hierarchy of Needs Provided by Maslo
B.  Security or Safety Needs

A.  Esteem Needs .
g— il;fyﬂsjiol'ogical Needs . D. Need forself-actualisation

T ation or Adceptance .

el G W ST TR S SR S (S & AT  afeerd T :

A ST A SEREHAY B. gzmmm&nw’%ﬁanawﬁ C.  YRGRATHS S

D, oToifafg ¥ fu sTEvRA E esdl A wd
Choose the correct answer from the options given below :

= fR T fashedt § § Wt IR A=A RIS
A) D,AEBC @ ACBDE
:\a i(e)mgfang ;zald a \':/11}:“(:&['“1 0f¥3.70 in the pteviousyear. The dividends in the future are expected to grow atthe
e 3 at is the value of share price today if market capitalises divgirdenzm;

it St 3 fasa a9 € 3.70 % I A i
3 y : ST fo1 | feea § SIIE 3 8% i X e i ST
wwﬁmwuuﬁmﬁam%a’rm%(W)Wu@wqmma@m@ 5 e bl

@) D,ECBA 4 A,BCD,E

(1) %100
W)hi s 2 20 (3) =X 1000 (4) 400
ch of the following Financial Institutions i i
W o he/oliggine Ee r;e;exvei: s()}i(;rt terr.n and medium term credit from the NABARD?
(& Land Development Banks D. SaRe igsr?tll{ve 3
gl)wosi\ thl;a cCorrect answer from the options given bélo»g : R W
,B,Conl .
y (2) B,C,Donly - (3 A B,Donly 4 A,CDonl
,C, D only

freAfafad § 9 % 9 foxia Jeam 1= | seqemias w6 qermtes
. 5y 5 1
A fiod d% @ Sfean (vt fisrd 5) B, qmﬁqaqéa;' S A SRy X

@ %ﬁﬁﬁmw D. &5 [
o e e e e O
(1) FaAAA,B,C (2) FFB,C,D @) & A, B,D
/B, (@) FEAA,C,D
40
01l
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133. W
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Apran e the following steps iy,

AITE sarliay Olveq i
" nce from earlier to later ed in the
P g€l Jtting objectives gt jhe Process of i ; ihri i er
5 S ." A es planmng, as provided by Weihrich and Koontz, 1n prop
C ]don1l1f>nng altormm'\,eS B t
. Choosing an alk‘mdtive D Being aware or the opportunity
a;ﬁ’_@ e A R % 2 X C()nsidering planning premises
I : q : ST H
' TR 8 St P St ) S @ S T 3w T
T favifea
: N
¢ ke TS e B. 3o 3 wfy smreeh 2
o ﬁ?ﬁﬂw‘ﬂ’ﬂt F D. T amem o et T
Choose the correc _ apswer from the opt:
fﬁé feu g, m T q FE'T I ?};;OHS given below .
A G B,DE 2 y =
") 7 @ BAD C'F
The three most common methoq N X ®). ABCD,E @ BDAEC
@ ™ Costapproach S of Measuring brand equity are':
Financial approach E.. S““Plifying product handling C. Market approach

: : ' Busi
Choose the correct answer from the Usiness approach

) A,CandDonly () A gzﬁ(:i“égiVen below : %

' BandConly (3) B,CandDonly (4) C DandEonly
gie Sl < HI B N e fyft .(éﬁﬁqéé?ony o)

g fasira U™ 2 3= TR TR C RS

3 fea o el H | W& swoa

T HifST ;

() FFAACIRD () FewaBaRC @ Fe@BCAD @ ¥ae C, D IRE

. . Whichamong the following in NOT a cofidition of perfect competition ?

(1)  Therearelarge number of firms producing and selling a product.

(2) Both the sellers al?d buyers have perfect information about the prevailing price in the market.
() Entry into and exit from the industry is free for the firms.
) The product of all firms are not homogeneous.’

frefafad B | i goi wfaeut 1 wd & &2

(1) 271 A T SR 8 S AR foh @ |

) forret 2 S S 3 T SR Y e 6 gt 3 o e A €
6) mﬂﬁmamm@ﬁmﬁrwﬁﬁ%mﬁzwm%l

@) Tuft i o Seg THH (T, 7 A €

13 According to Greet Hofstede, Societies differ invalues, Hence, Managing human resource in Inter-country situations

become still more complex. Among the following, which factors cause differences in valuelz ? \

A Power Distance B. Legal factors - Individualism

D. Masculinity E.  Uncertainty avoidance

! from the options given below : ; i

ct)mos'ixthce gnﬁemnswer(z) AB DECNy @) BGCDEonly 4) ABCDonly

/grzwmamga% m—mﬂmﬁm—WTWm%’l 7 ST fefadl B TrE GEnE vy 3R
/ : A 9 - . .

‘ﬁ?:fw A S e | Wﬁﬂﬁmﬂmmmm(w)ﬁmmmm

pe . faftrh HRH c.  AfFRaR

A
3 E@ E aﬁﬁaﬂm
ﬁaﬁqmﬁmﬁﬁﬂﬂﬁmmm (2; ¥ A, B,D,E
() #a@A,CDE @) FI@ABCD
() #a@B,C DE
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135.

136.

137.

138.

139.

140.

@)  Jobspecification (2)

?
: i tion Test’ (TAT) on group of entrepreneurs
DL APPISE o ()  Arthur H. Cole (4) Robert R. Blake

Who has conducted th Mark Casson

ar
0 e & MG B s
(1) W 37«—;111 @ T @ TR S

ine the duties of company’s positions and characteristics of People,

The procedure through which one determ

hire for company is called ? Job description

Juation (3) ]obAnalysis 4) L
i Job;g;amma;qa%mﬁs&famﬁvﬁ%ﬁwmwﬁuﬁmmmég
e wfshan & g ERURE :
e FEadl & 2
o wErrem @ FEEIEON O otk ©) 7 i

Green Marketing does NOT include:
(1)  Mobile retailing
(3)  Increasingrole of technology

2) Omnichannel retailing
@) Retail consolidation

2f fauoH (u‘mmﬁsﬁﬂ)ﬁmﬁﬁﬂﬁm%:
(1)  Heree G (2 e g fawt
@) e i 9 (4) G TR

An act that one entity performs for another that is essentially intangible and does not result in ownershipg

anything is called ; .
(1) Communicating (2)/ Service (3)  Distribution (4)  Customer relationship

ﬁwﬁmmmmm%fmﬁwﬁamm%@rm: o 2 & qn i feRdT o off @i
TR T 2T ¥, 9 HE I

(1) SR @ @) @ @) TS FAY
Arrange the marketing logistics decisions in proper sequence beginning from start to end.

A.  Warehousing B... Inventory

C.  Order processing D. © Transportation
FeAfafea fagom H9R § FoiEl F1 SR § 31q % 9yfad AgHA H Fefedd it :

A YEFR B. - HIg

C  FARNWEAT D. TR (IRe)

Choose the correct answer from the options given below :
= few T faswedi # 8 Wé 3T FH = FHIT :
M- CABD, - Q" ABCD 3/ B; DA @ D,ACB

.~ < iR

Which approach says that organisations are different, face different situations and require different ways’
managing ? 1 §

(1)  Scientific approach (2) + Contingency approach

(3) Quantitativeapproach (4)| Behavioral approach

feAfafaa 4 4 fa 3umm 1 afamd 2 fF e fimen § fis : e
fir=1 g F1 AT B 3 2 , o1 aRferfrstl <1 g v o 5 we F
(D @) e (yrfi)

(3) HEATHS SUTH @) SHTTH

42 o
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ship of

ship

- ways of

g o TG

Read the following passage carefully:
: y; and answ i
Across India, a profound tr. er question no. 141 to 145
- / ansfo ioni g
patterns in the country are unde:‘goinm;at;(?? e u_“derway woven into the fabric of everyday life. The consumption
behaviour. This transformation I'Eﬂeclsi t5 "1 t, dl’lven.by the winds of changing lifestyles and evolving consumer
otonly economic growth butalso the aspirations and preferences of a dynamic

and diverse population. The Indian consun demand for convenience. Busy
. ndian ¢ e is wi n
ner landscape is witnessing a surge in demand for convenience. Bus

schedules and fast-paced lives : ; .
Food delivery, ride-iharing ap;::iigll‘ﬁ:\nse to'an increased confidence on services that offer time-saving solutions.
people manage their daily routines Sociilserw;‘es are becon.ung .integral to the urban lifestyle, transforming the way
Companies and online platforms are inﬂuen( -me; = _pla)'s a Slgmflc.ant role in shaping perceptions and aspirations.
The desire for unique experiences and a aur. t;lcrl\ﬁr ashlox} ch(?xc.es, choice of travel destinations, and recreational activities.
to fashion and entertainment. The Windsaf l estyleis drlvmg consumption sectors ranging from travel and hospitality
investors a sea of opportunities, This tra (; change are reshaping consumer spending patterns and lifestyles, offering
market bu als0 6pens dodes For tnvesth nsformation, mﬂu.enced by many factors, not only reflects the dynamism of the
With the rise of e-commerce, th flenS in consumption related sectors. :
broader array of choices, The di 't'al eere i$ a noticeable shlflllowarqs online purFllases dnvgn by cor‘wenience anfi a
PR e (s isil : I presents Opplortunmes for.mvestors eyeing companies catering to the on'nlme
o eg owing trend of higher expenditure on experiences. gonsumers are allocaFmg a
hospitality, tourism, and gets toimravel and dining and entertainment. This offers investment avenues in the
, entertainmentindustries, as businesses adapt to meet the demand for memorable experiences.
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141. What trend is observed in consumerexpenditure in India ?

(1)  Decrease in expenditure on experiences
(2)  Shifttowards higher expenditure on experiences like travel, dining and entertainments

(3) Increaseon expenditure on material possessions
(4)  Nochange in consumer expenditure patterns
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Which industries are li e

(1) Manufacturing and agriculture (2 ea : : ; A

(3 Infi hnol ), Hospitality, tourism and en =

3) nformation technology . i e g 52
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d transformation in consumert spending patterns in Indi

Evolving lifestyles and consumer behaviour

Decrease in population
Increase in government regulations

Decrease in economic growth
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What desire is driving consumption sectors in India ?

£1)
@
6)
@

Desire for unique experiences and a curated lifestyle
Desire for traditional lifestyle
Desire for modern technology

Desire for simplicity

feAifeRa o | forg 2=01 9 4G § SuME &3 9Rd 2 @ie?

(1)
@)
(©)]
@

fafere ST iR ST St 7 51
TR ST 1 351

Y Ui @i 3=31
HITY0] S i w1

How is social media influencing consumer behaviour m India ?

(1)
®)

B : - |
y promoting traditional values (2)/rBy Shaping perceptions and Y

By discouraging online shopping (4) By advocating minimalism
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Read the following passage carefully; and answer question no. 146 to 150

ue differentiator

ives the business tow Ry i
Ao owards success 15 its unique work culture. An organization’s culture is shaped by various

> business o W v
In the business landscape, where operations and functions often follow a similar blueprint, the tr

act the company’s

factors such as the leadership, workforce, and the external influences. These factors significantly imp
are considering to

5 its overall pe A k] S
SuCcess, ﬂ“d 1S OVCIe 1l Puformance. With job insecurities and uncertainties on the rise, workplaces
reshape their organisational cultures.

According to astudy conducted by Deloitte, 94% of executives and 88% of employees acknowledge the critical role

of organisational culture in determining a company’s success. Significantly, 76% of surveyed employees highlighted
phenomenon also

the (Hrect mﬂgence of a well-defined business strategy in cultivating a positive culture. This global
sigr'uflca_ntly influences India’s fast-moying startup ecosystem, where numerous tasks must be accomplished with
“""‘?fi time and resources. It becomes imperative for these organisations to restructure their work culture by instilling
qualities such as agility, an innovative-focused mindset, and resilience amongst its employees.

' Moreover, a fgcus areathat has gained significant prominence in India’s work culture is employee mental well-
being. POSt.pa.n.df.!mlc, many organizations were compelled to reassess their priorities, including those in India, to shift
towards-,pnon-tlzmg employee happinessand overall well-being. This change in the leadership perspective affected
corporate envu;onments to focus on their work culture, as employees now prioritize a balanced work-life equation.
Today, many job seekers choose a secure; inclusive, and flexible work environment when evaluating potential
opportunities. Tie
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146, What is identified as the true differentiator for success in the business landscape ?

(1)  Operations and functions ): (2)  Unique work culture

(3) Leadership skills (4)  Externalinfluences
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147. Whatchangein Jeader 3
(1)  Focuson increasing Wor ; T well-being

2 Prioritization of employ®
(3) Emphasis on st s
4) Promotion on hierarchical St;:: ,qﬁaﬁq - 37
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fluence on cultivating a positive

i having a direct in/
148. What aspect did 76% of surveyed employees emphasize as g
Financial incentives

culture? o

1 Workforce diversity - { I

((3)) Business strategy @) Operahonal efﬁcxfzncy = fea 2
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149. InIndia’s startup ecosystem, what qualities are imperative for organizatjons to instill in their employees ? ‘
d resilience

(1)  Tradition and stability 2y Innovation an
(4) ““Hierarchy and control

(3) Consistency and predictability o) ‘
W%quﬁhﬁﬁqﬁfﬁﬁ@ﬂ?%m@ﬁ‘ﬁ%ﬁﬁmﬁ e T 3 g ST \‘
1 W i wnfaa (2)."7" HAAER iR wfeeehet |
@ gt st (@ T e e |
150. How do organizationsin the fast-moving startup éccisystem need to reshape their work culture ?
(1) By emphasizing tradition and stability
2 By promoting strict hierarchy =4y
(3y By instilling agility and innovation |
(4) Byincreasing job insecurities
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